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Question Number : 1 Question Id : 9277591149 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Victoria Memorial in Kolkata was completed in
Options :

1. % 1921

2. % 1901

3. % 1915

4. % 1932

Question Number : 1 Question Id : 9277591149 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



CANCARIEACE SRR RO T ORI g3 Tl
Options :
1. % 1921
2. % 1901
3. % 1915
4. % 1932

Question Number : 2 Question Id : 9277591150 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Lai Haraoba is a religious festival celebrated by the Meitei people who are largely settled in and around
Options :

1. % Assam

2. % Manipur

3. % Arunachal Pradesh

4. % Nagaland

Question Number : 2 Question Id : 9277591150 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS BRIET U YTfHes TER § Sl A AN gRT T STl § Sff &g UM TR o 3R 3P MU U gUR |
Options :

1. % 3UH

2. ¢ HiOIR

3. % RO UasT

4. % WIS

Question Number : 3 Question Id : 9277591151 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
As announced in the Budget 2021, tax holiday for affordable rental housing projects is extended to more year/years.



Options :
1. ® four
2. % three
3. % one
4. % two

Question Number : 3 Question Id : 9277591151 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
202%$Wﬁﬁn§aﬁwés&W,WWaﬁ&mq&mﬂeﬁ$mm-%&mﬁ 3R qu/as! & Sel faar
el

Options :

1. % IR

2. % dH

3. ¥ UD

4.% Q)

Question Number : 4 Question Id : 9277591152 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following equations is correct?

Options :

1. #® Gross Domestic Product = Consumption + Investment + Government Expenditure + Exports + Imports
2. ¥ Gross Domestic Product = Consumption + Investment + Government Expenditure + Exports - Imports
3. # Gross Domestic Product = Consumption + Investment + Government Expenditure - Exports - Imports

4. ® Gross Domestic Product = Consumption + Investment + Government Expenditure - Exports + Imports

Question Number : 4 Question Id : 9277591152 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFoffad 7 3 1 91 gHieu g8 82

Options :



1. % g IR IMIG = ITHNT + % + PRI 399 + Fafd + smara
2. ¢ & I IATE = FTHNT + 9% + R 97 + fafd - smama
3. % Jhd T IdIE = STHNT + 3% + RHRY 377 - it - 3mard
4. % IHd W IMIG = IUHIT + 9% + SR 7 - Faid + smard

Question Number : 5 Question Id : 9277591153 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Solder is an alloy that is made up of lead and
Options :

1. ¥ tin

2. % copper

3. # aluminium

4. ® gilver

Question Number : 5 Question Id : 9277591153 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

i1 g 3 o I 3iR RESIEGI
Options :

1. ¢ feq

2. % dH

3. % UGy

4. % Tidl

Question Number : 6 Question Id : 9277591154 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The organic compounds in which R-O-R' functional group is present are called
Options :

1. # aldehydes




2. * ketones

3. # esters
4. « ethers

Question Number : 6 Question Id : 9277591154 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HT® A fo 7 R-0-R' TSRS THE HANlE 81dT §, 39 FHEI AT g |
Options :

1. % TfcsgRs

2. % BIcH

3. % TN

4. ¢ W

Question Number : 7 Question Id : 9277591155 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Betalongchhip is the highest mountain peak of which of the following states?
Options :

1. % West Bengal

2. % Assam

3. ¥ Tripura

4. ¥ Mizoram

Question Number : 7 Question Id : 9277591155 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Scferfeu, Rufifad & 3 g Isg &) 999 St udd ardt 82
Options :

1. % OfEH ST

2. % 3IH




3. ¢ AT
4. % {OoIRA

Question Number : 8 Question Id : 9277591156 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The Strait of Gibraltar joins Ocean and Mediterranean Sea.

Options :

1. ¥ Atlantic
2. # Pacific
3. # Indian
4. # Southern

Question Number : 8 Question Id : 9277591156 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

forsTeex ey AR 3R YA YR &) Sisdl 8|
Options :

1. ¢ 3fedifcsd

2. % YR

3. % fg

4. % GaUTydg

Question Number : 9 Question Id : 9277591157 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Bhupendra Nath Bose presided over the session of Indian National Congress in 1914.
Options :

1. # Karachi

2. ¥ Madras

3. ¥ Bombay



4. % Lucknow

Question Number : 9 Question Id : 9277591157 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YO=GATY 19 H 1914 H YR I8 HF & T B A D |
Options :

1. % Bl

2. % Hgld

3. % §iEd

4, % U1

Question Number : 10 Question Id : 9277591158 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Narayan Malhar Joshi founded the Social Service League in 1911 in

Options :

1. ¥ Bombay
2. ¥ Madras
3. ® Calcutta
4. % Poona

Question Number : 10 Question Id : 9277591158 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TRV HegR SR 1911 H H TS JaT AT DI R 1 |
Options :

1. ¥ §e3

2. % Hglg

3. ® hldpdl

4. % Oy



Question Number : 11 Question Id : 9277591159 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Vaikom Satyagraha, launched against untouchability among Hindu, was led by T.K. Madhavan in the year
Options :

1. % 1931

2. % 1917

3. 1924

4. % 1928

Question Number : 11 Question Id : 9277591159 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fEgaf & i SRyRgd & RIaTh L= fhT Y, I H TATIE &1 Add ¢l.&b. HIea gRI ay o fobr T T |
Options :

1. % 1931

2. %1917

3.9 1924

4, % 1928

Question Number : 12 Question Id : 9277591160 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following books is not written by Vidiadhar Surajprasad Naipaul?
Options :

1. # A Bend in the River

2. # In a Free State

3. ® An Area of Darkness

4. ¥ The King of Dark Chamber

Question Number : 12 Question Id : 9277591160 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

frafofed # 3 o T [ [AaneR JRev™e TuTd gRT e fordt TS 82
Options :

1. % Jdg e RR

2. % I WBIWT

3. % T URAT 31 Slhd

4. T 7 3ITh ST deaR

Question Number : 13 Question Id : 9277591161 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The first Indian woman to be awarded the Bharat Ratna is in 1971.

Options :

1. ¥ Indira Gandhi

2. # Aruna Asaf Ali

3. ¥ Lata Mangeshkar
4. ¥ M.S. Subbulakshmi

Question Number : 13 Question Id : 9277591161 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1971 B YR I I TG 819 aTelt ugelt URelta afgar gl
Options :

1. ¢ gfaRrmieht

2. % 3BUT T il

3. % Al HIhR

4. % TU.UY. JeaeH!

Question Number : 14 Question Id : 9277591162 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

The Cabinet approved Memorandum of Association (MoU) between India and on cooperation in the field of Mineral Resources
in June 2021.

Options :

1. ¥ Argentina
2. ® Russia
3. % Brazil

4. % France

Question Number : 14 Question Id : 9277591162 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HfHed A 5 2021 T @S SE1EAT & &5 T W8N IR YR 3R & oI AHNSH 3{Tth THIRURHE &1 HoRl &l
Options :

1. ¢ SIS

2. % Y

3. ® ford

4. % Y

Question Number : 15 Question Id : 9277591163 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following countries hosted the G20 Tourism Ministers' Meeting held on 4th May 2021?
Options :

1. # India

2. ¥ ltaly

3. # China

4. % Canada

Question Number : 15 Question Id : 9277591163 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % YRd

2. ¢ geat

3. % I

4. % FHIST

Question Number : 16 Question Id : 9277591164 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

government has launched ‘Knowledge Economy Mission’ to boost job prospects in the state by supporting knowledge workers in
June 2021.

Options :

1. % Madhya Pradesh
2. ¥ Tamil Nadu

3. ¥ Kerala

4. # Karnataka

Question Number : 16 Question Id : 9277591164 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
WBR A T 2021 T FH SrIGarsl 1 THAT B Iod T AIh<) D1 GHTa1SM o) 9grar 3 & o it st firem
R fpar gl
Options :
1. % ¥ Y
2. % A ATg
3. ¢ I
4. % PcH

Question Number : 17 Question Id : 9277591165 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Harekrushna Mahatab was the first Chief Minister of which of the following states?
Options :

1. # Tripura

2. % Assam

3. % West Bengal

4. ¥ QOdisha

Question Number : 17 Question Id : 9277591165 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

P Hedmd FEfiad § ¥ 5w Isu & Usd g &
Options :

1. % Bgy

2. % 34H

3. % O §Ta

4. ¢ NS

Question Number : 18 Question Id : 9277591166 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The minimum age for election to the post of Vice-President of India is

Options :

1. # 30 years
2. % 35 years
3. % 25 years
4. % 28 years

Question Number : 18 Question Id : 9277591166 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YRd & IIRIPURI & U & 19 b 10 Aaw 31g gl



Options :

1. % 3099
2. ¢ 35TY
3. % 2599
4. % 2894

Question Number : 19 Question Id : 9277591167 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the rank of the Indian women's hockey team in the latest International Hockey Federation world rankings in June 20217
Options :

1. % 4th

2. ¥ Oth

3. % 6th

4. % 8th

Question Number : 19 Question Id : 9277591167 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. # 4Y]

2. ¢ odi

3. % 641

4. % gqi

Question Number : 20 Question Id : 9277591168 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who among the following was the first captain of Indian T20 team?
Options :



1. # Mahendra Singh Dhoni
2. # Sourav Ganguly

3. % Virender Sehwag

4. # Sachin Tendulkar

Question Number : 20 Question Id : 9277591168 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fofafed & 3 ®F YR T20 E9 & Ugd HH 42
Options :

1. % Ty g Uit

2. % FRG TR

3. ¢ fa¥e wgam

4. % gfeH dgdar

General Ability
Group Number : 2
Group Id : 92775942
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No
General Ability
Section Id : 92775942

Section Number : 1



Section type : Online

Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 92775950
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 9277591169 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which one is odd in the given series.

DF-24, AU -21,CH-24,NE - 71
Options :

1. # DF -24

2. % AU-21

3. % CH-24

4, ¥ NE - 71

Question Number : 21 Question Id : 9277591169 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& 113 YTar § B 91 fava B

DF -24, AU-21,CH-24,NE - 71
Options :

1. % DF-24

2. % AU-21

3. % CH-24

4. ¥ NE - 71



Question Number : 22 Question Id : 9277591170 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Complete the following number series.

PP_PPP_PPPP_PPPP_q
Options :
1. * ppqq
2. % papq
3. ¥ qqqp
4. * qpqp

Question Number : 22 Question Id : 9277591170 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
PP_PPP_PPPP_PPPP_4

Options :

L. * ppqq

2. % papq

3. ¥ qqap

4. % qpqp

Question Number : 23 Question Id : 9277591171 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Complete the following letter series.

A,N,B,0,C,P,D,?
Options :
1.¥Q



2. % R
3.% S
4. % T

Question Number : 23 Question Id : 9277591171 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafaRad sieR gaa & @RI H

A,N,B,O0,C,P,D,?
Options :

1.¥Q

2. % R

3.% S

4. % T

Question Number : 24 Question Id : 9277591172 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Complete the following letter series.

AM, ZN, BL, YO, CK, ?
Options :
1. ® PX
2. ¥ XP
3. ®* RS
4. = SR

Question Number : 24 Question Id : 9277591172 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafaiRad s1eR g & @RI H



AM, ZN, BL, YO, CK, ?
Options :
1. % PX
2. ¥ XP
3. % RS
4. % SR

Question Number : 25 Question Id : 9277591173 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the pair that is related on the same basis to the pair given in the question.

Rectangle : Pentagon :: 7 : ?
Options :

1. ¥ Triangle : Rectangle
2. # Circle : Square

3. # Triangle : Angle

4. % Arc: Circle

Question Number : 25 Question Id : 9277591173 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I SISt BT T B ot Uy H < 1S TS A A UHR T Tafd 3|

3 : UAHT:: 21 2
Options :

1. ¢ BIYS : 3ad
2.Wﬁ:aﬁ
3.*%@:%
4. % gd-dly : g

Question Number : 26 Question Id : 9277591174 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Select the option that is related to the third term on the same basis as the second term is related to the first term.

1J:45::PQ:?
Options :

1. % 112

2. % 248
3.9 136

4, % 72

Question Number : 26 Question Id : 9277591174 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
39 fAH e T 997 B S iR UG ¥ 341 UHR ¥ Yafdd g fo JR ¥ gOR1 UG Ugd Ug ¥ Hafed g

1J:45::PQ:?
Options :

1. % 112

2. % 248
3.¥ 136

4. % 72

Question Number : 27 Question Id : 9277591175 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language if COW is coded as BDNPVX, then what will be LAP coded as ?
Options :

1. ¥ KMZBTO

2. % KMZBOT

3. ¥ KMDCGA

4. ¥ KMZBOQ



Question Number : 27 Question Id : 9277591175 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

s (AfEd ie U # afe cow & BDNPVX & %0 H sifsd fosar Tan g, dl LAP &1 8 shifed fasar S
Options :

1. ® KMZBTO

2. ® KMZBOT

3. # KMDCGA

4. ¥ KMZBOQ

Question Number : 28 Question Id : 9277591176 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, 'Economy growth level down' means '59 24 14 17" ; 'Rate range slow percentage' means '55 72 90 83' ; 'Index range
growth economy rate' means '83 90 66 41 24" ; 'Range level down economy' means '90 41 17 59' then 'range rate index' means

Options :

1. ¥ 83 66 90
2. % 907217
3. % 178341
4. % 665583

Question Number : 28 Question Id : 9277591176 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U (Afgd die U 3, 'Economy growth level down' & 3§ 5924 14 17'; 'Rate range slow percentage' 1 31 155 72 90 83'; "Index range
growth economy rate' [ 3{?‘?% '83 90 66 41 24'; 'Range level down economy' bl G{Qf% '90 41 17 59' % dr 'range rate index' &I a3 %I
Options :

1. ¥ 83 66 90

2. % 907217

3. % 178341

4. % 665583



Question Number : 29 Question Id : 9277591177 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Amal, Binay, Chandu and Damu are playing cards. Amal and Chandu are partners and Binay and Damu are partners. Damu is To the right of
Chandu. The face of Chandu is towards west. Find the direction that Damu is facing.

Options :
1. * West
2. ¥ South
3. % North
4. % East

Question Number : 29 Question Id : 9277591177 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3d, forg, =g SR 1 a1 Wd 38 § | 3Hd 3R Ig HFMER g SR o d SR g UFTeR g1 S g & T 3R g | Tg &1 T8 Uiy &
3R g o= I1d X fored s H1 g B |

Options :

1. % gigw|

2. Ti&l

3. % 3}

4. % 7d

Question Number : 30 Question Id : 9277591178 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

5 girls are sitting in a row. Bidita is to the left of Minu. Rima is to the right of Arpita. Manju is in the middle of Rima and Bidita. Who among the
following is to the extreme right of the row?

Options :

1. ¥ Minu
2. % Bidita
3. % Arpita
4. % Manju



Question Number : 30 Question Id : 9277591178 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

5 il Ueb A W o B | fofae Hi- o a1¢ iR & 1 T it & a1l ok & | wo S iR fofden & offa & 31 Fafdifed & 4 &H A & 3|
T8 3R FaT

Options :

1. ¢ HI

2. % fafean

3. % it

4. % A9

Question Number : 31 Question Id : 9277591179 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the question two statements are given, followed by two conclusions, I and II. You have to consider the statement to be true even if it seems to
be at variance from commonly known facts. You have to decide which of the given conclusions, if any, follows from the given statements.

Statement 1. All cars are balls.
Statement 2. All balls are tables.

Conclusion I. Some tables are balls.
Conclusion II. Some tables are Cars.

Options :

1. % Only Conclusion I follows

2. % Only Conclusion II follows

3. % Either Conclusion I or II follows
4. ¥ both I and II follow

Question Number : 31 Question Id : 9277591179 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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BNl 3T T AT o few e Few sl & Q 319 1, 3 1L 81 af fou MU o= & ¥ SR vl &

HYT 1. g PR IS T
HYT 2. gH T A9

5y 1. $& O 71 B
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Options :

1. % $Had [T5HY [ 3IERV Bl §

2. % Had fHY 11 TR0 BT &

3. % g al ey 1 a1 sy 11 SRR HRaT |
4. 1 3R 11 GHI SRRV AR §

Question Number : 32 Question Id : 9277591180 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the question two statements are given, followed by two conclusions, I and II. You have to consider the statement to be true even if it seems to
be at variance from commonly known facts. You have to decide which of the given conclusions, if any, follows from the given statements.

Statements 1. Some bags are hot.
Statements 2. All hots are cakes.

Conclusion I. All cakes are bags.
Conclusion II. All bags are cakes.

Options :

1. # Only Conclusion I follows

2. % Only Conclusion II follows

3. % Either Conclusion I or II follows
4. ¥ Neither I nor II follows

Question Number : 32 Question Id : 9277591180 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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BNl 3T T AT o few e Few sl & Q 319 1, 3 1L 81 af fou MU o= & ¥ SR vl &

HYT 1. S YA TH &,
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ey 111 gt 9 Fp B

Options :

1. % $Had [T5HY [ 3IERV Bl §

2. % Had fHY 11 TR0 BT &

3. % g al ey 1 a1 sy 11 SRR HRaT |
4. 1SR TG 11 SR BT §

Question Number : 33 Question Id : 9277591181 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Complete the following number series.

1.5,7.5,37.5,187.5,?
Options :

1. ¥ 937.5

2. % 8435

3. % 762.5

4. % 694.5

Question Number : 33 Question Id : 9277591181 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
1.5,7.5,37.5,187.5,?

Options :

1. ¥ 937.5

2. % 8435



3. % 762.5
4. % 694.5

Question Number : 34 Question Id : 9277591182 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Complete the following number series.

157.5,45,15,2,3,2,2
Options :

1.¥6

2.% 5

3.% 55

4. % 6.5

Question Number : 34 Question Id : 9277591182 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
157.5,45,15,?,3,2,2

Options :

1.¥6

2.% 5

3. %55

4. % 6.5

Question Number : 35 Question Id : 9277591183 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following diagram represents the relationship among Wild animals, Lions, Cow?
Options :



©o0

Question Number : 35 Question Id : 9277591183 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FrafRad o | 19 1 SR STCH ey, IR, T & o9 & Ta BT g1idT 82

Options :



Sle

©o0

Question Number : 36 Question Id : 9277591184 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
How many triangles are there in the following figure?

P7ANN
N\

Options :




1. ¥ 24
2. % 26
3. % 27
4, % 28

Question Number : 36 Question Id : 9277591184 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Foffad srepfa & fba Bys &2

P7ANN
N\

Options :
1. ¥ 24
2. %26
3. %27
4, % 28

Question Number : 37 Question Id : 9277591185 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Complete the question figure.

Options :



%
™
NI

Question Number : 37 Question Id : 9277591185 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

PERICIREIRNERY



Options :

2. %




Question Number : 38 Question Id : 9277591186 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Complete the question figure.

J\/I_

Options :

EIA

N




4. v ]

Question Number : 38 Question Id : 9277591186 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TY TP B R DR

J\/I_

Options :

A




9 N

4. v ]

Question Number : 39 Question Id : 9277591187 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Given below are 4 pictures of a cube. Which number is on the face opposite to 3?

I I I ' i
Options
1. % 2
2. % 1
3.4
4. %5

Question Number : 39 Question Id : 9277591187 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



TR TE g 4 oz fRu MU g1 3 & IF YT B R o It T:1 82

Options :
1. % 2
2.% 1
3.¥°4
4. %5

Question Number : 40 Question Id : 9277591188 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
From the given two positions of a single dice, find the number of dots at the face opposite to the face having 4 dots.

. I .
. » DL

Options :
1. %2
2.¥ 3
3.%5
4. % 6

Question Number : 40 Question Id : 9277591188 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T IR &1 <) 718 &) Rufaat § 9, 4 figail ara waie & Imn fRud was Wk fgait ot T 31d &8




Options :
1. %2
2.¥3
3.%5
4. % 6
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Sub-Section Id : 92775951
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 9277591189 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sum of 2 numbers is 15 and their HCF and LCM are 5 and 10. Find the sum of the reciprocal of the numbers.
Options :

1. % 0.25

2.9 0.30

3. % 0.35

4. % 0.40

Question Number : 41 Question Id : 9277591189 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2 GRS BT ART 15 § 3R 3 AETH THIIGA® 3R TYTH THIIAAS 5 3R 10 & | ILAT3M o TRTRS (RINH) BT IR J1d B |
Options :

1. % 0.25

2.9 0.30

3. % 0.35

4, % 0.40

Question Number : 42 Question Id : 9277591190 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the binary representation of the sum of the squares of the first 10 whole numbers?
Options :

1. # 100011110

2.% 100011101

3. % 100011111

4. % 100101101



Question Number : 42 Question Id : 9277591190 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 10 GOT IRSATS & I o TN BT gATURY e 001 31 52
Options :

1. # 100011110

2.¥100011101

3. % 100011111

4. % 100101101

Question Number : 43 Question Id : 9277591191 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The average age of 2 children in a family is 18 years. The average of the family with parents is 38 years. If the father is 2 years elder to the
mother, then find the age of the father.

Options :

1. ¥ 59 years
2. % 57 years
3. % 55 years
4. % 53 years

Question Number : 43 Question Id : 9277591191 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gtrﬁa'r{ﬁzaaﬁﬁaﬁwm183&??”Hmﬁaﬁwwﬁaﬁwaﬁwquga&f%aﬁﬁmwﬁza&fa@_%ﬁrmﬁ&nﬁm
|

Options :

1. ¢ 509

2. % 5799

3. % 559

4. % 5399



Question Number : 44 Question Id
Orientation : Vertical

: 9277591192 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25
What percent of the first 20 prime numbers have either 2 or 5 in their unit's place?

Options :
1. %® 5%
2. % 10%
3. % 12.5%
4. % 20%

Question Number : 44 Question Id
Orientation : Vertical

: 9277591192 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25

Ugd 20 ST B3l § T fram ufawd A shls d UE R ATA 275 82

Options :
1. % 5%
2. % 10%
3. % 12.5%
4. % 20%

Question Number : 45 Question Id
Orientation : Vertical

: 9277591193 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25
X% of 60 1s equal to 60% of Y. By how much is Y greater than X?

Options :
1. * 3.33%
2. % 1.5%
3. % 1%
4. % 0%

Question Number : 45 Question Id

: 9277591193 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

60 BT X%, Y B 60% P RISR g1 Y, X I fhan gs718?
Options :

1. # 3.33%

2. % 1.5%

3.% 1%

4.9 0%

Question Number : 46 Question Id : 9277591194 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The difference between the selling price of a good at 18% loss and 10% profit is Rs 84. Find the selling price of the good if it is to be sold at a
profit of 40%.

Options :

1. ¥ Rs 420
2. % Rs 432
3. % Rs 444
4. % Rs 450

Question Number : 46 Question Id : 9277591194 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

18% BIF 3R 10% ATH TR 9] & [Ahd Jed & aid BT 3R 84 ST § | TS T BT 40% b ATH TR 9T ST § dl SUDT [ahd Hed 1 B |
Options :

1. ¥ 420 >UU¢

2. % 432°%0U¢

3. % 44400

4. % 450U

Question Number : 47 Question Id : 9277591195 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

X and Y start a business with investments being in the ratio of 5:6. Z started 4 months after with an investment equal to the average of X and Y.
Find the total profits for the year if Y's share was Rs 36,000.

Options :

1. ¥ Rs 88,000
2. % Rs 44,000
3. #¥ Rs 66,000
4. % Rs 33,000

Question Number : 47 Question Id : 9277591195 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

X 3R Y 5:6 % U & Fa< & 1Y U G L= HRA 61 Z H 4 A 916 X 3R Y P 3¥Id & SRI6R (9% & 1Y Yo HI | a4 &
foTE o dt STy 1 dhL Tfe v BT 3T 36,000 TUT AT

Options :

1. ¥ 88,000 ¥UT

2. % 44,000 3T

3. % 66,000 30U

4. % 33,000 37T

Question Number : 48 Question Id : 9277591196 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

35% of X is equal to 1/7th of Y. Find the ratio of X and Y.
Options :

1. % 2.7

2. % 20:49

3. % 3.7

4, % 2:5

Question Number : 48 Question Id : 9277591196 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

X BT135%, Y & 1/7d HIT & SRISR 8| X 3R Y BT ST I Hr |
Options :

1. % 2.7

2.9 20:49

3. % 3.7

4. % 2:5

Question Number : 49 Question Id : 9277591197 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

if X% of 1200 = 24 and Y% of 2400 = 12, then find the value of X:Y?
Options :

1. ¥ 4:1

2.% 14

3. % 2:1

4. % 1:2

Question Number : 49 Question Id : 9277591197 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TG 1200 BT X% = 24 3R 2400 BT Y% = 12, AT X:Y BT T Jd B2
Options :

1. % 4:1

2.% 14

3. % 2:1

4, % 1:2

Question Number : 50 Question Id : 9277591198 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A principal becomes Rs 2112 after 4 years and Rs 2880 after 10 years of simple interest. Find the rate of interest.



Options :
1. ® 4%
2. % 6%
3. ¥ 8%
4. % 12%

Question Number : 50 Question Id : 9277591198 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP GAYT 4 T8 & 916 2112 Y 3R 10 T & TR TS & 1G 2880 FUY G191l & | TSI B} &R 1A DR |
Options :

1. # 4%

2. % 6%

3.¥ 8%

4. % 12%

Question Number : 51 Question Id : 9277591199 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Rs 12,000 was earned as simple interest for 73 days in a non-leap year at an interest of (200/3)%. Find the compound interest that will be earned
for 2 years on the same principal.

Options :

1. * Rs 1,20,000
2. % Rs 1,35,000
3. % Rs 1,44,000
4. ¥ Rs 1,60,000

Question Number : 51 Question Id : 9277591199 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T TR-31May T (200/3)% & &A1 WR 73 &1 & e AROr a1el & =0 H 12,000 $UT S1foid fpT 7T 1 I Yo W 2 Iuf o forg sifofd
Ah e SATS 1 PR




Options :

1. % 1,20,000 ®49UQ
2. % 1,35,000 U
3. % 1,44,000 249U
4. % 1,60,000 >UUd

Question Number : 52 Question Id : 9277591200 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A car travels from X to Y which is 200 kms apart in 4 hours and travels back from Y to X at 80 kmph. Find the average speed of the car.
Options :

1. % 60 kmph

2. % 60.54 kmph

3. % 61 kmph

4. ¥ 61.54 kmph

Question Number : 52 Question Id : 9277591200 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gwx@waﬁﬁwm—cﬂ%eﬁﬁmﬁ%ﬁzookmsﬁgﬂmf%aﬁ?yﬁstokmphﬁﬂﬁrﬁwwﬂ%Wab"raﬁwvﬁ-rsﬂa
|

Options :

1. % 60 kmph

2. # 60.54 kmph

3. ® 61 kmph

4. ¥ 61.54 kmph

Question Number : 53 Question Id : 9277591201 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A car covers every 1/3rd of a journey at speeds of 60 kmph, 72 kmph and 90 kmph. Find the average speed of the car for the journey.
Options :



1. % 60 kmph
2. % 64.44 kmph
3. % 66.67 kmph
4. 72 kmph

Question Number : 53 Question Id : 9277591201 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP BR I & TS 1/3 HFT BT 60 kmph, 72 kmph 3R 90 kmph B1 7TfI § T B0 8 | TN & T SR Bt 319 i 10 B |
Options :

1. % 60 kmph

2. % 64.44 kmph

3. % 66.67 kmph

4. 72 kmph

Question Number : 54 Question Id : 9277591202 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

10 people can plant 100 kg seeds in 8 hours. In how much time can 50 kg seeds be planted by 20 men?
Options :

1. % 105 minutes

2. % 110 minutes

3. # 115 minutes

4. % 120 minutes

Question Number : 54 Question Id : 9277591202 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

10 AT 8 B2 H 100 kg 1S §1 qobd § 1 20 3MeHl fhaa 7T H 50 ke SIS &Y Tobdl 32
Options :

1. % 105 fie



2. % 110 foFe
3. % 115 e
4. 120 fiC

Question Number : 55 Question Id : 9277591203 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

X and Y can do a job in 30 and 40 days respectively. They start together and after 12 days, X gets injured and his efficiency is halved. Find the
number of days, X and Y will now take to finish the job.

Options :
1. %5
2.% 6
3.72
4. % 84

Question Number : 55 Question Id : 9277591203 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

X 3R Y U BT Bl HH: 30 3R 40 f& H % Tabd &1 9 TH 1Y & B ¢ 3R 12 1 & 918, X I109d 81 S g 3R IUh! drdefd
et B St B 1 o &t T A &%, S X SR Y Dl 3@ S R B | aAbl|

Options :

1. %5

2. %6

3. 72

4.% 84

Question Number : 56 Question Id : 9277591204 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is double the volume of a cone with radius as 7 cm and height as 12 cm?
Options :

1. # 616 cucm



2. % 924 cucm
3.4 1232 cucm
4. % 1848 cucm

Question Number : 56 Question Id : 9277591204 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T P BT AT BT ST {1 § fordh! 8T 7 cm 3R 31 12 cm 87
Options :

1. # 616 cucm

2. % 924 cucm

3.¥ 1232 cucm

4. * 1848 cucm

Question Number : 57 Question Id : 9277591205 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

4 dogs are tied to 4 corners of a square room of side 20 m. Each dog is tied to a rope of length 7 m. Find the area that the dogs cannot cover.
Options :

1. * 61.5sqm

2. % 123 sqm

3. % 184.5sqm

4. ¥ 246 sqm

Question Number : 57 Question Id : 9277591205 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

4 1 1 20 m YT AT AIDBR B b 4 DI H SIUT T 81 UAD ol D1 7 m ST DI IR T AT S | I8 & T D o $o bR
e R Febd |

Options :

1. % 61.5sqm

2. % 123 sqm



3. % 184.5sqm
4. % 246 sqm

Question Number : 58 Question Id : 9277591206 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The table shows the marks of students in different subject in the final exams. If all the exams were of 100 mark, which student scored the highest
percentage?

Subject & Marks
Student
English Maths Physies Biology

A 79 88 76 81
B 21 80 82 73
c i7 86 75 92
D a9 71 81 77

Options :

1. % A

2. % B

3. 9C

4. % D

Question Number : 58 Question Id : 9277591206 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
dTferepT sifer uten o faftrst fawal & ol & sid &I gifar g1 afe gt wiemy 100 it 31 o, 4 foow B = I=aw uf=ra U fasam



fug 3fi 3l
GJE|
3wt LG Wifa®eT | Safag=
A 79 g8 76 g1
B 91 B0 82 73
C 77 21 75 92
D g9 71 g1 77
Options :
1. % A
2. % B
3.9 C
4. % D

Question Number : 59 Question Id : 9277591207 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The frequency polygon shows the expense ratio of a company in different years. The expense ratio and profit percent add up to 1. If the expenses
for the year 2017 were Rs 36,000, then how much was the profit for the year?

a2
82

ot 78

78 77
7
74 -
72 -
70 -
63 -
(13

76

72

Expenses ratio (in %)

2013 2014 2015 2016 2017

Year




Options :

1. % Rs 12,000
2. % Rs 14,000
3. ¥ Rs 14,400
4. % Rs 16,000

Question Number : 59 Question Id : 9277591207 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Mg gyl fafta auf & Ul & 99 3UTd &1 S-idl & | T SJUTd 3R AT U= &1 a1 1 g1 g | 3fe a8 2017 & W &4 36,000
FUU U, A1 9y & forg arH faramm ume

&4 9 B2
+]
A B0 1 78
= 78 7 2%
76
Y \1
72 4
E 0 -
6B
BE
2013 2014 2015 2016 2017
ad
Options :
1. # 12,000 24U

2. ¥ 14,000 ¥UU
3. % 14,400 ®UU
4. % 16,000 ®UU

Question Number : 60 Question Id : 9277591208 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The histogram shows the height of a plant (in cm) for the given years. In which year was the growth of the plant the highest?



Height of the plant [in cm)

2015 2016 2017 2018 2019 2020
Year

Options :
1. # 2016
2. % 2017
3. %2018
4. % 2019

Question Number : 60 Question Id : 9277591208 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

STl T T v 3 R 019 &) S (om ) Y @iTe 1 oy e 21 019 ) 9 e oifirep g2
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af
Options :
1. % 2016
2. %2017
3.9 2018
4. % 2019
General Hindi

Group Number : 4
Group Id : 92775944
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20

Is this Group for Examiner? : No



General Hindi

Section Id : 92775944
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 16
Number of Questions to be attempted : 16
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 92775952
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 9277591209 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fufafad vy A, IR fowedl § B, 39 fawey &1 T &2 5 fovar & Ne arel gl faseu gl
ATAT-far 3ru- s § S HRad g |

Options :

1. % Ppad

2. ¢ RN
3. % HY
4. % ATHYUI]

Question Number : 61 Question Id : 9277591209 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofafRad vy #, IR fawedl & 1, 39 fdwey &1 79 & N fova1 & Ve are gl fadwe gl
AT 3r9- s A BTl PR B |

Options :




1. % Ppdd
2. ¢ RS
3. % WY
4. % YT

Question Number : 62 Question Id : 9277591210 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofafad vy §, IR ol § T, 39 faswey &1 T &3 Sl 31600 & Y &1 Jal f[ddbed gl
q 3TN 0 ¥h-11 &l US|

Options :

1. % fgarfayo
2. % JUIEIUD
3. ¢ U

4, % JeUNYH

Question Number : 62 Question Id : 9277591210 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFufafad a7, IR el § T, 39 fawey &1 T B &t 31300 & U &1 Tal fddbed 81|
I 3TST [ Sh+11 81 IS |

Options :

1. ® fopar-fa=ivo
2. % AGIYD
3. AU

4. % JGYSIYDH

Question Number : 63 Question Id : 9277591211 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



fFofifed uy §, IR el 7 9, 39 f9hca &1 997 B & HIddas I3 &1 gl fashed 78l g1
Options :

1. % qren

2. % JEdl

3. % @Gt

4. ¢ QU

Question Number : 63 Question Id : 9277591211 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed vy 8, 9R fadmed ¥ 9, 39 fadhed &1 99+ &< Sl HIadTad §371 ST g fdbed Tl 5
Options :

1. % Qe

2. % A

3. % gEer

4. ¢ T

Question Number : 64 Question Id : 9277591212 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy o, aR fowedl & T, 39 faewed &1 999 &2 ol HIFH | [T T et & AR JGTH & W &1 Tl fadbed |
agl ol TSl WSl § 98 (W) &

Options :

1. ® dYdrasdh
2. % UYdrad

3. % JAYgdrEId
4. ¢ Sara®

Question Number : 64 Question Id : 9277591212 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

fafaRad vy #, IR fowedl 7 9, 39 fdded &1 99 & ol DIFH H QT U Xeg & AR Fa-H & U &I ! [dbed ol
ERIEIRISRESIERIGINS

Options :

1. % IYydrach
2. % UYdrad

3. % YA
4. ¢ SIS

Question Number : 65 Question Id : 9277591213 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad ve o, TR fawenl § 9, 39 fawed &1 70 &L Sl Y e &1 Ta! fadbea 7
Options :

1. ¢ 3fafad

2. % 3giad

3. % 3Mad

4, % RYETAl

Question Number : 65 Question Id : 9277591213 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy &, TR fowedl § 9, 39 fawe &1 999 &3 o g Vs &1 Ta! [dbed 7
Options :

1. ¢ 3fraiad

2. % 3Riqd

3. % Sdad

4. % 3RYTETdl

Question Number : 66 Question Id : 9277591214 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

fFofiad uy & IR fowedl o T, 39 ey &1 Tg &1 O feT TN Wsg & MR et 1 fadheu 78T 81
HT[_

Options :
1. % fgror
2. % IRA
3. ¢ fagn
4. % PUNR

Question Number : 66 Question Id : 9277591214 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafeiad uy & IR fawedl & T, 39 ey &1 w9 &3 Ot fou U Wsg & gl wreg o1 fasbeu 78t 21

HT[_
Options :

|, % fgror
2. ® IRIA
3. ¢ fagn
4. % HUNHR

Question Number : 67 Question Id : 9277591215 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed Uy &, IR et 7 9, 39 fahcd o1 987 & o fadiH Weg &1 e 331 faheu g
&iforep

Options :
1.« RMMYd
2. % fvy




3. % 3T
4. % dqd

Question Number : 67 Question Id : 9277591215 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed Uy &, IR ercdl 7 9, 39 f9hcd o1 987 & o fadiH Weg &1 e 331 faheu g |
&iforep

Options :
1.« RMMYd
2. % fNy
3. % 39
4, % d¥dd

Question Number : 68 Question Id : 9277591216 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafaRad Uy H, IR fAdeul 7 9, 39 I8! f[dwed &1 99+ B3 Sl IR & ol U Weg, &l [ddhed |
3{arg foar gai

Options :

1. % 3fJaedH
2. ¥ 3Fffed
3. % 3fdH
4. % 3P

Question Number : 68 Question Id : 9277591216 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafafad vy §, IR fawedl § T, 39 I8! faded o1 I B3 Sl a1l & ol U e o1 fadhed 8|




3fgare febar g
Options :

1. % 3{dlqP
2. ¥ 3Fffed

3. % 3{dH

4. % 3P

Question Number : 69 Question Id : 9277591217 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafafad uy 7, IR e & T, 39 f9hed &1 T B Sl feU 77T 919 & ol Uet & He o Jad 331 f[abeu 5|

g8 feA-1d UQTs R U7 a9 SR TS UYH 3!
Options :

1. % gATeEesH

2. % YAIfd=Ias

3. % FMgdEde

4. ¢ TS

Question Number : 69 Question Id : 9277591217 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed uy §, IR eeal 7 9, 39 fahcd &1 987 &% ot feU 7T are & fol uai & Ve &1 9ad 331 [y g |

g8 fea-1d UGS HRdr U1 9 SR TS UYH ST
Options :

1. ® graweliced

2. % TETfQeEde

3. % Fgdreds

4. ¢ VT AD



Question Number : 70 Question Id : 9277591218 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FrafaRad vy 5, IR fawedl & 9, 39 f[ddhed &1 909 o Sl PG a1 &1 oY 33T fdded 5|
Options :

1. % 70 B o 3t 9fSal s TS|

2. % IR R A &t of$al ug |

3. ¢ W 8 [ &1 If$ai ug T |

4. % IRI o1 o F afeai o8 5|

Question Number : 70 Question Id : 9277591218 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad ue o, TR fawent § 9, 39 fawey &1 70 &L Sl Y a1 T Ja 3737 fadhed 3|
Options :

1. % 7o H e 3t 9fSal s TS|

2. % IR R A & 9f$ar ug |

3. ¢ WA Jand &1 dfeal us TR |

4. % WY I Yot I afeai s TR |

Question Number : 71 Question Id : 9277591219 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFufoRed Uy |, IR fadweul 7 ¥, 39 fddhed &1 999 &3 oIl ol d1ad He &l f[ddbed 1|
S e ol ¥ BT WR ST 39 $© H g1 e

Options :

1. % Hcgdrad
2. % XA dIH
3. % gYod die
4.« By IR




Question Number : 71 Question Id : 9277591219 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafcRed Uy |, IR fadwedl 7 ¥, 39 fdwed &1 999 &3 oIl el d1ad He &l f[ddhed 8|
S e ol ¥ BT WR ST 39 $© H g e

Options :

1. % Jogardd
2. % WA AT
3. % gYod i
4. ¢ Oy I

Question Number : 72 Question Id : 9277591220 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy 4, aR fawed! & O, 39 fdeed &1 99+ o il fav1 g god ot &1 dal fadbeu gl
Options :

1. % U U9 ¥ 9dd Iad a8 U Tiia § 31 581 39 T A1e i

2. ¢ W T ¥ 9Ad-9ad g U T11d | T, gl 34 Uap aref e

3. % W 9 ¥ Iad, Id 98 U T1d § {41, STal 39 T A1 fiyem

4. % W 7 T IAd Il 98 U T1id | ST o] 39 Uep ref firan

Question Number : 72 Question Id : 9277591220 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad Uy O, aR faswed! & 9, 39 fdeed &1 99 &< Sl faR1 fIg god a1 &1 Hal fadheu gl
Options :

1. % g 79 T Idd ol 98 U TTd B ST 5181 39 Ueb aref i

2. v U {1 3 Idd-dad 98 U TI1d J 31T, Sigl 39 U A fiyem

3. % gW B9 U Idd, IAd 98 T T11d H T, el 34 U uref e




4. ® W U9 Y Iad dold 98 T T1d | AT o8] 39 T Aref fAran

Question Number : 73 Question Id : 9277591221 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed uy &, IR el 7 9, 39 fahcu &1 987 &3 &t feu U deifad o1 gt 31 ararr fapea g |

TR S T 3T -
Options :

1. % SREIG g1 ST
2. % 91 3T

3. % goT fewrar

4. ¢ foT Ugd & @AY

Question Number : 73 Question Id : 9277591221 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifad uy A, IR el 7 9, 39 fawcu &1 97 &% &t feu U Aeifad o1 gt 3 arer fapea g |

TR 9 THIT 31T -
Options :

1. % SREIG gl ST
2. % §1¢ M

3. % gaT fewrar

4. ¢ QAT Ugd o ATH

Question Number : 74 Question Id : 9277591222 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafed oy & ar fawedl § 9, 39 faded &1 9g9 & ot &1 718 GeTaX &1 Ja! 3 ara fadwed ]
TaT B 37 ¢TI -




Options :

1. ¢ TUY P 7T UG HR HTH BT
2. % Ugd hAl

3. % AR HIAT

4. % ZARMAT

Question Number : 74 Question Id : 9277591222 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafofad oy & o fawedl § 9, 39 fade &1 7g9 &3 ot &t 718 GeTaX &1 Ja! 3 ara fadwe ]

91 BT 3G ¢TI -

Options :

1. « Y D1 i gD BHR HTH Hl
2. % UId HAl

3. % AR HIAT

4. ® AT

Question Number : 75 Question Id : 9277591223 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafaRed Uy &, IR fawedl § 9, 39 fadhed &1 9a9 & ol &1 715 GeTaX T Ja! o a1 fadwed g1
Ty Wi -

Options :

1. % 7@l ¢l

2. % R DAl
3. % Haq dAT
4.« TASHY G

Question Number : 75 Question Id : 9277591223 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

fafaRed Uy &, aR fawedl § 9, 39 fadmed &1 9a & ol &1 715 GeTaX &1 el o a1 fadwed g1
Ty Wi -

Options :

IRRICIT|

2. % HRF DAl

3. % Haq Pl

4.« ST &= 11

Sub-Section Number : 2

Sub-Section Id : 92775953
Question Shuffling Allowed : Yes

Question Id : 9277591224 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No
Question Numbers : (76 to 80)

Y TR & AMYG® Ue 3R IR fadmed § ¥ s Uy &1 qarad SR A |

A8 Al ded! ¢ fob o TR gHar =d @1 8, 5 Hl Il RE o1 =fgu | I HHI Wzl W PR a1 ], fesh Ga bl I W
3T 95T 8| TP Fieard URAR | $dT IadR 351 A, 57T 3Tk 58 o1 Rrarar| 78 a8 Fed gu orT 2 Jota =1g 81T fs ;Y
A1A1-fOe g3 el SaTaT SNy faaRYRT dTel oufdk & 3R 91 37 U774 8 | G9i oIl © fob 31U el ob fore 8% Al el SaTaT Jrgd!
3R Fffep BIcfl 31 I8 Yo SUTGT TRED UG el & | I8 1T STHM 1 Al 51 IT PRI S BT, S0 S| P ag qHH S J Jad Bl
TG & IR S MG URG! BT a6 Gl A o1 a1t ¢ | A ST fhaRd 9 81 dRadIuNg il 5, ifd d gad P IY-1Y AR
fae e BIl €| 98 Sl 1 UTer 3R S fAepRId R bl STeh! He UG & Sff I5 MU STeell TR 31U Hed! 1 7Y R T & forg
R B & 1 3T TR BT AT TWHR IUD! TRl Bl o @ 1 I9D! Jd Ugfi gl ]

Sub questions

Question Number : 76 Question Id : 9277591225 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TG o STUR SO Al & favg & g - 71 Hgl 82

Options :

1. % O g1 ¥ $HgH I Hed A s & o wed!




2. % A g1 & 0 YA o forg I+1 et
3. % i gfar ¥ Ui Iaq o forg gt
4.« 1 AT & ATY-TTY Ia o forg gt

Question Number : 77 Question Id : 9277591226 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
310 s ob o Al it gl 8
Options :

1. % S 3R T

2. % TN WR 1A

3. ¢ rgE 3R e

4. % RID! GHG 7 B dreil

Question Number : 78 Question Id : 9277591227 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

= & ST P 1Y AT & Siig— H 1 uRad= 3M1ar 82
Options :

1. % §gd HISTS oMl §

2. ¢ g & Y- AIRT [IB R BIefl &

3. % §gd a0 WRISNaT glaT @

4. % AT =l & WY BICT B A §

Question Number : 79 Question Id : 9277591228 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

0 A S - 1 Uy &1 fad Tg 72
Options :

1. ¢ fgfa

2. ® 3lqd

3. % WHId



4. % feTeT

Question Number : 80 Question Id : 9277591229 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
S TG B g IUYad Y P-
Options :

1. % AIDHTS

2. /Al

3. % AP B

4. % AT h HTH

Question Id : 9277591224 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No
Question Numbers : (76 to 80)

Y TR & AMYE® Ue 3R IR fadmed § ¥ Td® Uy &1 qarad R g |

A A padl § [ fora R gfhar o 81 3, 8 Hf Sl R I Anfg vl I i Taciaral W S 81 v, Sfcth Qe bl i 3R
3IFY 95T 8| U Fieard URAR ¥ $aT Jad 351 A, 5T 37k 8 S Rrarar| 78 78 Fed gu orT Hf Jota =18t 81T i ;Y
H1A1-fd g3 el SaraT SNy faaRYRT dTe sfe & 3R 91 31 U774 8 | G9i o1l § fob 31U el ob forw 8% Al e SaTaT Argdt
3R Fffep BIcfl 31 I8 Yo SUTGT RSP UG el & | I8 1T STHM 1 Al 51 I1 YR S BT, S0 §od] P g qHH S A Jod Bl
TTEd § 3R I 3TSiE UREl o ave GaT SMHHM &A1 A8t 8 | 1Y 30 fivard ¥ 8 cRaw Iuie Bl &, Fif 3 s & I1Y-T1Y ERT
fae i gIdl €| 98 Sl 1 UTer 3R I fAepRId R bl STeh! He UG § S I5 MU SfTeell TR 31U Hedl b1 7Y RRY A T & forg
ORA BT B 1 370 RIS BT AR TP ST Rl Bl OfF i 1 S9! gl Ugil gl g |

Sub questions

Question Number : 76 Question Id : 9277591225 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TG o TR SO Al & [avg & ad - 71 Hgl 82
Options :

1. % T gAY Hed A Hed A am & fau sedt

2. % O ga1 o UIe YA & o A1 =il




3. % Of gfar ¥ Ui Iaq o forg gt
4. « A1 AT & ATY-TTY Ta o forg Hgat

Question Number : 77 Question Id : 9277591226 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
310 sl ob o Al it gl 82
Options :

1. % S 3R T

2. % Q&Y IR AT

3. ¢ et ok il

4. % R GHG T B dTeil

Question Number : 78 Question Id : 9277591227 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Sl & SilaH o FIY HT & Sita H o1 gRad 311l 82
Options :

1. % §gd HISTS oMl 8

2. ¥ = & AIY-H1Y GISRT [ Ryd Bl &

3. % §gd a0 WRISaT glaT @

4. % A g & Y BICT B A ©

Question Number : 79 Question Id : 9277591228 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T8 Y S - 1 Uy &1 fad 2sg 72
Options :

1. ¢ fAgf

2. % 3flad

3. % WJHId



4. % TS

Question Number : 80 Question Id : 9277591229 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 3fwSC BT Hlg JUgdd Hd-
Options :
1. % QTP S
2. Tf
3. % AP BleR
4. % O b B
General English
Group Number : 5
Group Id : 92775945
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No
General English
Section Id : 92775945
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 16
Number of Questions to be attempted : 16



Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 92775954
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 9277591230 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

What a sad opinion one forms of men,/ what bitterness grips one's heart when one/ sees such delirious asininess on display.
Options :

1. # What a sad opinion one forms of men,

2. # what bitterness grips one's heart when one

3. % sees such delirious asininess on display.

4. % No Error

Question Number : 81 Question Id : 9277591230 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

What a sad opinion one forms of men,/ what bitterness grips one's heart when one/ sees such delirious asininess on display.
Options :

1. % What a sad opinion one forms of men,

2. % what bitterness grips one's heart when one

3. ¥ sees such delirious asininess on display.

4. ¥ No Error

Question Number : 82 Question Id : 9277591231 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

Hardly had I reached/ the station than/ the train came.
Options :

1. % Hardly had I reached

2. ¥ the station than

3. % the train came.

4. ¥ No Error

Question Number : 82 Question Id : 9277591231 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

Hardly had I reached/ the station than/ the train came.
Options :

1. # Hardly had I reached

2. ¥ the station than

3. # the train came.

4. % No Error

Question Number : 83 Question Id : 9277591232 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

She said, "She’d eaten pasta for dinner last night".
Options :

1. #* She said, "She ate

2. ¥ She said, "I ate



3. #® She said that, "She’d eaten

4. # No correction required

Question Number : 83 Question Id : 9277591232 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

She said, "She’d eaten pasta for dinner last night".
Options :

1. #* She said, "She ate

2. % She said, "I ate

3. #* She said that, "She’d eaten

4. # No correction required

Question Number : 84 Question Id : 9277591233 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

At the moment, (the Great Britain men's national ice hockey team is in division 1) of the Ice Hockey World Championships.
Options :

1. ¥ Great Britain men's national ice hockey team is in division 1

2. % QGreat Britain mens' national ice hockey team is in division 1

3. # the Great Britain men's national ice hockey team within division 1

4. # No correction required

Question Number : 84 Question Id : 9277591233 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the



option 'no correction required' if the sentence is correct as given.

At the moment, (the Great Britain men's national ice hockey team is in division 1) of the Ice Hockey World Championships.
Options :

1. ¥ Great Britain men's national ice hockey team is in division 1

2. #® Great Britain mens' national ice hockey team is in division 1

3. # the Great Britain men's national ice hockey team within division 1

4. ® No correction required

Question Number : 85 Question Id : 9277591234 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice

Under coopetition there is a that the knowledge shared for cooperation may also be used for competition.

Options :

1. % orthodox
2. % unorthodox
3. % paradox

4. # heterodox

Question Number : 85 Question Id : 9277591234 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice

Under coopetition there is a that the knowledge shared for cooperation may also be used for competition.

Options :

1. ® orthodox
2. % unorthodox
3. % paradox

4. ® heterodox



Question Number : 86 Question Id : 9277591235 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice

That will the concept of "teaching only" universities.
Options :

1. #* eldritch

2. % overwatch

3. * hopscotch

4. ¥ scotch

Question Number : 86 Question Id : 9277591235 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice

That will the concept of "teaching only" universities.
Options :

1. * eldritch

2. % overwatch

3. * hopscotch

4. ¥ scotch

Question Number : 87 Question Id : 9277591236 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful and grammatically correct sentence.

He who knows it as
P. heart, in the transcendent

Q. existing in the cave of the



R. Akasha realizes all his
S. desires along with

the Omniscient Brahman.

Options :

1. % PRSQ
2. ¥ QPRS
3. ¥ PSRQ
4. % RPQS

Question Number : 87 Question Id : 9277591236 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful and grammatically correct sentence.

He who knows it as

P. heart, in the transcendent
Q. existing in the cave of the
R. Akasha realizes all his

S. desires along with

the Omniscient Brahman.

Options :

1. # PRSQ
2. ¥ QPRS
3. % PSRQ
4. % RPQS



Question Number : 88 Question Id : 9277591237 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is similar in meaning (SYNONYM) to the word given below

Rigor

Options :

1. # Leniency

2. ¥ Affliction

3. % Contentment
4. % Calm

Question Number : 88 Question Id : 9277591237 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is similar in meaning (SYNONYM) to the word given below

Rigor

Options :

1. % Leniency

2. ¥ Affliction

3. % Contentment
4. # Calm

Question Number : 89 Question Id : 9277591238 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is opposite in meaning (ANTONYM) to the word given below

Noisome
Options :

1. # Repulsive



2. * Odious
3. % Innocuous

4. % Pestiferous

Question Number : 89 Question Id : 9277591238 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is opposite in meaning (ANTONYM) to the word given below

Noisome
Options :

1. # Repulsive
2. % Odious

3. % Innocuous

4, % Pestiferous

Question Number : 90 Question Id : 9277591239 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. % tomorow

2. % tommorrow

3. ¥ tomorrow

4. % tommorow

Question Number : 90 Question Id : 9277591239 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. # tomorow



2. * tommorrow
3. ¥ tomorrow

4. % tommorow

Question Number : 91 Question Id : 9277591240 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. # vaccuum

2. % vacuum

3. % vaccum

4. % vyacume

Question Number : 91 Question Id : 9277591240 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. ¥ vaccuum

2. % vacuum

3. # vaccum

4. % vacume

Question Number : 92 Question Id : 9277591241 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom

Wear your heart on your sleeve
Options :

1. ¥ To openly and freely express your emotions.



2. ¥ Someone who lacks intelligence.
3. % An usually small or confined space.

4. # To not agree. To not accept a proposition.

Question Number : 92 Question Id : 9277591241 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom

Wear your heart on your sleeve

Options :

1. ¥ To openly and freely express your emotions.
2. % Someone who lacks intelligence.

3. # An usually small or confined space.

4. % To not agree. To not accept a proposition.

Question Number : 93 Question Id : 9277591242 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom

When pigs fly

Options :

1. ® Something said in confidence that the one speaking doesn't want attributed to him/her.
2. % No longer have to deal with a tough situation.

3. ¥ Something that will never ever happen.

4. ® Getting a bad start on a relationship or task.

Question Number : 93 Question Id : 9277591242 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom



When pigs fly

Options :

1. #® Something said in confidence that the one speaking doesn't want attributed to him/her.
2. % No longer have to deal with a tough situation.

3. ¥ Something that will never ever happen.

4. ® Getting a bad start on a relationship or task.

Question Number : 94 Question Id : 9277591243 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expressions given below

One who is a centre of attraction
Options :

1. ¥ Cynosure

2. % Commissure

3. # Censure

4. ® Exposure

Question Number : 94 Question Id : 9277591243 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expressions given below

One who is a centre of attraction
Options :

1. ¥ Cynosure

2. % Commissure

3. # Censure

4. ® Exposure

Question Number : 95 Question Id : 9277591244 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expressions given below

One who sneers at the beliefs of others
Options :

1. #* Devout

2. % Cynic

3. % Sprod

4. % Spiel

Question Number : 95 Question Id : 9277591244 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expressions given below

One who sneers at the beliefs of others

Options :

1. * Devout

2. % Cynic

3. % Sprod

4. * Spiel

Sub-Section Number : 2
Sub-Section Id : 92775955
Question Shuffling Allowed : Yes

Question Id : 9277591245 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (96 to 100)

Read the passage carefully and choose the best answer to each question out of the four alternatives.

The analysis of handwriting has a long history—some say it goes back to Roman times. Modern graphology began early in the 19th century when
French churchman Jean Hippolyte Michon created the first graphological “catalogue” examining, for example, where letters fall on the line, their
shape and the pressure exerted.

Allan Conway, a professional graphologist for 12 years says, “Handwriting says more about you than many chosen words, simply because you



cannot hide yourself in your handwriting—it’s not really your hand that’s writing, but your brain. It’s your personality frozen in ink.”

Despite public scepticism, graphology plays a covert role in British management. Many companies use it for executive recruitment and analysis.
Graphology tells them about the candidates’ temperaments, highlighting both weaknesses and strengths. There are about 300 movements on an
unlined A4 page of writing and students must find and interpret them all. He also needs to know three things about the writers: their sex, their age
and if they are left or right-handed. Then he looks for 16 dominant 15 elements, including the size of the writing, the pressure, the speed and slant
of the words, how connected the characters are as well as the form of the connections, the proportions of the “middle zone” (covered by small
letters such as “0” and “n”) and “upper” and “lower” zones (where letters extend up or down, as with “d” or “p”), and the rhythm and regularity
of writing. “But there is one golden rule,” Rees says, “No single sign on its own must ever be taken to mean anything.”

The principles, according to Conway, are straightforward. The baseline—whether the writing goes straight across the page or slants up and down
—helps to determine the writer’s state of mind.

Sub questions

Question Number : 96 Question Id : 9277591246 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, which of the following option is incorrect? Choose one option.
Options :

1. # Jean Hippolyte Michon created the first graphological “catalogue”.

2. % Graphology has a long history dating back to the Roman times.

3. # The general public remains doubtful about the legitimacy of Graphology.

4. ¥ There are about 500 movements on an unlined A4 page of writing and students must find and interpret them all

Question Number : 97 Question Id : 9277591247 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In Graphology how many unlined movements are there on an A4 page of writing?
Options :

1. % 400

2.9 300

3. % 200

4. % 500

Question Number : 98 Question Id : 9277591248 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



According to the passage, who can be credited for starting modern Graphology?
Options :

1. # Anna Conway

2. % Jean Hippolyte Michon

3. % John Rees

4. % Allan Conway

Question Number : 99 Question Id : 9277591249 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following information is not required to conduct a handwriting Analysis?
Options :

1. ¥ Sex

2. % Age

3. ¥ Native language

4. % Dominant hand

Question Number : 100 Question Id : 9277591250 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the analysis of handwriting known as?
Options :

1. ¥ Theology

2. % Physiology

3. # Psychology

4. ¥ Graphology

Question Id : 9277591245 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (96 to 100)

Read the passage carefully and choose the best answer to each question out of the four alternatives.

The analysis of handwriting has a long history—some say it goes back to Roman times. Modern graphology began early in the 19th century when



French churchman Jean Hippolyte Michon created the first graphological “catalogue” examining, for example, where letters fall on the line, their
shape and the pressure exerted.

Allan Conway, a professional graphologist for 12 years says, “Handwriting says more about you than many chosen words, simply because you
cannot hide yourself in your handwriting—it’s not really your hand that’s writing, but your brain. It’s your personality frozen in ink.”

Despite public scepticism, graphology plays a covert role in British management. Many companies use it for executive recruitment and analysis.
Graphology tells them about the candidates’ temperaments, highlighting both weaknesses and strengths. There are about 300 movements on an
unlined A4 page of writing and students must find and interpret them all. He also needs to know three things about the writers: their sex, their age
and if they are left or right-handed. Then he looks for 16 dominant 15 elements, including the size of the writing, the pressure, the speed and slant
of the words, how connected the characters are as well as the form of the connections, the proportions of the “middle zone” (covered by small
letters such as “0” and “n”) and “upper” and “lower” zones (where letters extend up or down, as with “d” or “p”), and the rhythm and regularity
of writing. “But there is one golden rule,” Rees says, “No single sign on its own must ever be taken to mean anything.”

The principles, according to Conway, are straightforward. The baseline—whether the writing goes straight across the page or slants up and down
—helps to determine the writer’s state of mind.

Sub questions

Question Number : 96 Question Id : 9277591246 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, which of the following option is incorrect? Choose one option.
Options :

1. # Jean Hippolyte Michon created the first graphological “catalogue”.

2. % Graphology has a long history dating back to the Roman times.

3. # The general public remains doubtful about the legitimacy of Graphology.

4. ¥ There are about 500 movements on an unlined A4 page of writing and students must find and interpret them all

Question Number : 97 Question Id : 9277591247 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In Graphology how many unlined movements are there on an A4 page of writing?
Options :

1. % 400

2. % 300

3. % 200

4. % 500



Question Number : 98 Question Id : 9277591248 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, who can be credited for starting modern Graphology?
Options :

1. # Anna Conway

2. % Jean Hippolyte Michon

3. # John Rees

4. % Allan Conway

Question Number : 99 Question Id : 9277591249 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following information is not required to conduct a handwriting Analysis?
Options :

1. % Sex

2. % Age

3. ¥ Native language

4. % Dominant hand

Question Number : 100 Question Id : 9277591250 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the analysis of handwriting known as?
Options :

1. # Theology

2. % Physiology

3. # Psychology

4. ¥ Graphology
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Question Number : 101 Question Id : 9277591251 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

"Shut-Eye" drawing theory given by which of the following person?
Options :

1. ¥ Robert Catterson-Smith

2. % Boisbaudran

3. ®* E.G. Lutz

4. % Alphonse Legros



Question Number : 101 Question Id : 9277591251 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

"RTe-3MT5" ST R} Fafafed & 9 fory safad g1 & s 82
Options :

1. ¢ JAC e [y

2. % SIS

3. % 3 Ol el

4. % BTSN AU

Question Number : 102 Question Id : 9277591252 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following best describes Gestalt theory?
Options :

1. # Dual Coding

2. % Seen and Unseen

3. % The Whole is Something Besides the Parts

4. % Bottom-Up or Top-Down

Question Number : 102 Question Id : 9277591252 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad # 9 o ReTee RIgid 1 JaY 3r<sT 9uF Hal g2
Options :

1. % Sd DIfST

2. % T IR 3T

3. « Guf YTl & ST $o 3R 7

4, % §ICH-3{Y 1 C[U-813




Question Number : 103 Question Id : 9277591253 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Photographic Memory is also called as?
Options :

1. #* Implicit Memory

2. % Eidetic Memory

3. # Semantic Memory

4. % Procedural Memory

Question Number : 103 Question Id : 9277591253 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Wiedfthes Wid P! forg 9 T ot ST ST /2
Options :

1. % ffgd i

2. ¢ T (TSfed) |fa

3. % 3rfia Hfa

4. % YichaTdd Hfd

Question Number : 104 Question Id : 9277591254 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is true about Grecian Urn Exercises?
Options :

1. ¥ It's associated to the study of classical ornament and design.
2. # It involves non-symmetrical drawing.

3. % Human anatomy is most used as the reference source.

4. ¥ It involves drawing abstract silhouettes.

Question Number : 104 Question Id : 9277591254 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

frafafed 7 9 o MR A o & IR A qa 72

Options :

1. ¢ I8 ARG ADR 3R S & 319 ¥ I3 5 |

2. % OH TR-AMT Mol M |

3. % T YRR =T A7 &1 IuanT g Aid & 70 § gay 31f¥e frar Srar g |

4. % 30 3 Ryege W1 WM |

Question Number : 105 Question Id : 9277591255 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which is the commonly used strategy in McCann Erickson’s Role-Playing Approach, in advertising?

Options :

1. ® It explores the emotional and rational rewards of using products as one defines their strategy.

2. # It's a liaison between the creative team and the consumer.

3. # It is a three-point approach strategy which consist of knowing the competitors, target consumers and their needs.

4. ¥ It suggests acting as the consumer and write a response form consumer's point of view.

Question Number : 105 Question Id : 9277591255 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fagmo &, AT TRaT & Yf¥iepT fale SUNM RIA-WiET 31 & JHId: SUTIT B! STH aTat WFEIf S I g2

Options :

1. % gg IAG! BT ITANT B3 & HITATHD 3R dHUTd YRIBR] DI WISl HRT § FIfh Plg 3! UM DI IRUINT HRaAT R |
2. % Ug TgTHS A 3R IuHIadl & o Juh g1

3. % g oH P eI 0 § forad ufaeafifay, afera Susiadraell 3ik 3@ sRevdl &l ST i g

4. ¢ I8 UM & T H BT B BT G4 &l § AR SUHIGT & B0 ¥ Ufdferan feraan g1

Question Number : 106 Question Id : 9277591256 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



There are a variety of jobs that require skills in commercial art and a commercial artist job description can vary depending on the field. Graduates
may work for advertising or marketing agencies, or they may offer their services on a freelance basis. Which of the career options listed below
least belongs to the job description mentioned above?

Options :

1. # Art Director

2. # Illustrator

3. % Art Therapist
4. ¥ Web Developer

Question Number : 106 Question Id : 9277591256 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAfie UpR Pt Nepfai g S fore gl ool 7 SId & MaRgswdl gkt 8 3R TaTIRI® HATHR B b BT faavu 83 &
YR TR O BT Gohdl & | AW (A9 3T AU TR & Tl 10 &R Fahd g, A1 d Wad U J 30 Ja18 ¢ Ihd ¢ | - Giag
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Options :

1. % Hal fFe®

2. % fa®

3. ¢ Hdl s

4. ® 99 SAAW

Question Number : 107 Question Id : 9277591257 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is second stage to design internet advertising?
Options :

1. ¥ Concepts

2. % Production

3. #¥ Research and Planning

4. ¥ Development

Question Number : 107 Question Id : 9277591257 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

FafaRad & 9 HF 91 $ex-c AU fESS FHR H1 GERT TRUI 82
Options :

1. ¢ SGYRON

2. % Jdlad

3. % T 3R TIoHT

4. % fqrg

Question Number : 108 Question Id : 9277591258 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

James Webb Young, a former creative vice president at J. Walter Thompson, documented his thinking process to spark creativity in advertising.
His idea is known as Young’s 5-step technique for producing ideas. At which step does one starts putting different pieces of information together
and bring 2-3 facts together and see how they fit?

Options :

1. # Incubation
2. ¥ Digestion
3. # Illumination

4. % Immersion

Question Number : 108 Question Id : 9277591258 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

S, aTeex UG & Jd T D SUTHE, S 9 I A IR & -1l B ST & fod 3911 i Ufehan &1 gxdideiidhRul [T
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Options :

1. # S
2. ¥ (-
3. % ydifay
4. % fagsi




Question Number : 109 Question Id : 9277591259 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What does Composition refer to in graphic designing?

Options :

1. ® It refers to the relative size of a design element in comparison with soething else.

2. # [t refers to the importance of understanding the role of visual perception and its role in visual communication.
3. ¥ It refers to the visual structure and organization of elements within a design.

4. ® Tt is the choice of colours used.

Question Number : 109 Question Id : 9277591259 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fthes fEoms i~ # e forg o1 ey Tar g2

Options :
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Question Number : 110 Question Id : 9277591260 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not a principle of grahic designing?
Options :

1. % Alignment

2. ® Repetition

3. % Contrast

4. ¥ Format

Question Number : 110 Question Id : 9277591260 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

fafafed 7 @ o a1 withe fSemsf~m o1 fRigid 981 82
Options :

1. % IR

2. % GRIGRT

3. % IR

4. ¥ U]

Question Number : 111 Question Id : 9277591261 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is vector graphic software used in graphic designing?
Options :

1. ¥ CorelDraw

2. % Canva

3. % MS Paint

4. # Scribus

Question Number : 111 Question Id : 9277591261 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¥ HRA S

2. % DIl

3. % THEY UC

4. % fEpay

Question Number : 112 Question Id : 9277591262 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Graphic designers are the conduits for all types of communications from multiple sources to specific audiences, and to be successful they must be
well-informed, accomplished researchers with inquisitive natures. Which of the following is a primary source for factual research?

Options :

1. # Movies

2. ¥ Observations
3. % Wall Painting
4. ¥ Murals

Question Number : 112 Question Id : 9277591262 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Tl

2. ¢ Y&ful

3. % TR femror
4. % Ty oA

Question Number : 113 Question Id : 9277591263 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Scale is one of the principles of 2D design. Which of the following best describes scale?
Options :

1. ¥ It's the overall size of an object.

2. % TIt's a repetition of patterns.

3. # It's the way in which something is arranged or set out.

4. # It's shows overlapping forms.

Question Number : 113 Question Id : 9277591263 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 114 Question Id : 9277591264 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following design is related to creation of flat or two-dimensional images?
Options :

1. # Product Design

2. % 3D-Design

3. % Print Design

4. ¥ 2D-design

Question Number : 114 Question Id : 9277591264 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ProRiid & & 1 a1 RewTe grd a1 f3-fam s & Fafor 3 defe &
Options :

1. % IdIq f&ergA

2. % 3D f&ulg

3. % fljc f&airga

4. ¢ 2D-f&TEH

Question Number : 115 Question Id : 9277591265 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



What is the term used for the process of generating a photorealistic or non-photorealistic image from a 2D or 3D model?
Options :

1. ¥ Digital Rendering

2. % Graphic Designing

3. # Etching

4. % Lithography

Question Number : 115 Question Id : 9277591265 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 116 Question Id : 9277591266 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not a technique used to produce 2D graphic models?
Options :

1. # Translation

2. # Rotation

3. % Splicing

4. # Scaling

Question Number : 116 Question Id : 9277591266 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :



1. % 3fdTe
2. % YU

3. « AR
4. % IpfcT

Question Number : 117 Question Id : 9277591267 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following best describes Negative-Space lettering?

Options :

1. ® It is a technique that involves drawing or painting small dots to create detail and depth.
2. # It is a process that allows one to visually plan the lettering before it gets inked.

3. # It is a technique of lettering in shapes.

4. ¥ It is a style of lettering where white letters are made against a dark background.

Question Number : 117 Question Id : 9277591267 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % I U U a1 & ford fadR 31 TexT8 911 & fod Bl fogaft ! Wiaw a1 fafid o= mfia g1
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Question Number : 118 Question Id : 9277591268 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following lettering type has alphabets that are made up of dramatic, dark letterforms full of impact, contrast and detailed
decoration?

Options :



1. # Nastalikh Calligraphy
2. ¥ Gothic Lettering

3. % Serif lettering

4. # Devnagri Calligraphy

Question Number : 118 Question Id : 9277591268 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % AT &Rih
2. ¢ TiYH el

3. % QR el

4. % GANRY 3feRiH

Question Number : 119 Question Id : 9277591269 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Chancery Cursive is a type of calligraphy lettering. At which angle should the pen be placed for the mentioned style of lettering?
Options :

1. # 30 degree

2. # 60 degree

3. % 45 degree

4. % 90 degree

Question Number : 119 Question Id : 9277591269 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :



1. % 30 feiht
2. % 60 {3
3. ¢ 45 TS
4. % 90 feUt

Question Number : 120 Question Id : 9277591270 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

There are three fundamental aspects of typography. One of the aspects was described by Walter Tracy as "The quality of being decipherable and
recognisable". Which aspect is related to the phrase above?

Options :

1. ¥ Legibility

2. # Contrast

3. % Aesthetics

4. # Readability

Question Number : 120 Question Id : 9277591270 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ gureyd (afSfaferd)

2. ® IR

3. % WU

4, % gagdr
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Group Id : 92775947
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Show Attended Group? : No
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Group Marks : 20
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Section Number : 1
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Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1

Sub-Section Id : 92775957

Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 9277591271 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is an advantage of digital drawing?
Options :

1. # Data assessment can't be performed.

2. # Have to redraw an entire drawing when making changes.
3. ¥ The output can be time-consuming.

4. % The involvement of only one person while drawing.



Question Number : 121 Question Id : 9277591271 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaRed 3 3 oF fefoed S &1 amy 52
Options :

1. % ST Yegidh el a1 o Tehal g |

2. % TR HId I TR SRGU DI {hr J §+1 g
3. ¢ 3T3eYe 3% THY oA aTa &l 9hdl g |

4. % RWU PR Y Had U Hfad &I YUFTGR] |

Question Number : 122 Question Id : 9277591272 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is a use of 3D-modeling in science sector?
Options :

1. ¢ They are used as highly detailed models of chemical compounds.

2. ® They are used to create the entire visual 3D component of the game with many aspects of animation being the same process as used in
Film/TV.

3. # They are used to create interactive renderings of buildings and structures; the vast majority of all architectural items are created via 3D
CAD modelling for real-life construction.

4. ® Creation of to-scale designs to then be produced in a CNC environment and/or via a more manual, hands-on method of fabrication.

Question Number : 122 Question Id : 9277591272 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 123 Question Id : 9277591273 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Various complementary tools are used to generate 3D computer graphics. Which of the following software is not a complementary tool?
Options :

1. # Digital Fusion

2. % Final Cut Pro

3. # Shake

4. ¥ Bioedit

Question Number : 123 Question Id : 9277591273 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % fSfSTed wgoH

2. % BIEAd B U

3. % QP

4. ¥ SEIUfEe

Question Number : 124 Question Id : 9277591274 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following technique is related to the recording three-dimensional visual information or creating the illusion of depth in an image?
Options :

1. ¥ Assonance

2. ¥ Stereoscopy

3. # Amplifying

4. % Alliteration



Question Number : 124 Question Id : 9277591274 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % M

2. ¢ EIRGRDI!

3. % gRafda

4, % 3qUr™H

Question Number : 125 Question Id : 9277591275 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is a movie poster?
Options :

1. ¥ Metropolis poster

2. # Beach Town posters

3. % Fall In' poster

4. ®# German propaganda poster

Question Number : 125 Question Id : 9277591275 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fgfefad & ¥ o I1 fthed &1 UReR 82
Options :

1. ¢ HeIUifery UReR

2. % g9 T3 UReX

3. % Tid 3 URex

4. % SHT UIUT ST URex



Question Number : 126 Question Id : 9277591276 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

X is a large outdoor advertising structure, typically found in high-traffic areas such as alongside busy roads. What is X?
Options :

1. ¥ Billboards

2. % Dangler

3. # Flyers

4. % Posters

Question Number : 126 Question Id : 9277591276 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ fqaareq

2. % SR

3. % Tl

4. % QRS

Question Number : 127 Question Id : 9277591277 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following term is related to the phrase below?
'It's an informal measure of how easy it is to distinguish one letter from another in a particular typeface.'

Options :

1. # Type Legitimacy
2. # Type Readability
3. ¥ Type Legibility
4. #® Type Accuracy

Question Number : 127 Question Id : 9277591277 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % ¢HoId UHR

2. % USHIId YR

3. ¢ JUIaAdl (Afsifaferet) ThR

4, % Fhdl YR

Question Number : 128 Question Id : 9277591278 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is true regarding symmetrical designs?
Options :

1. ¥ They appear more conservative.

2. % The appear non-conservative.

3. % The tend to be more intuitive.

4. % They appear more intrusive.

Question Number : 128 Question Id : 9277591278 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A fSeeHl & deiy # Fafied # 3 o 919 o7
Options :

1. ¢ 9 3fftip wigard! fawrs a8

2. % IR-Ffeard! fewrs ad B

3. % ¥ I g B g Bicil 5 |

4. % 3 AP fadeht foms <A B

Question Number : 129 Question Id : 9277591279 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Bronze Head of King is an example of Akkadian art. Which of the following king is related to this sculpture?
Options :

1. % Nebuchadnezzar

2. # Ashurnasirpal 11

3. ¥ Hammurabi

4. ¥ Sargon I

Question Number : 129 Question Id : 9277591279 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % TEPEGIRR

2. % SERATRRYA 11

3. % QAR

4. ¢ TN

Question Number : 130 Question Id : 9277591280 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

At which period did people paint pictures of animals on cave walls and sculpt animal and human forms in stone?
Options :

1. % Mesopotamian period

2. ¥ Prehistoric period

3. # Egyptian period

4. % Minoan period

Question Number : 130 Question Id : 9277591280 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % DI $Td

2. « YIRITAgTRIS Drel

3. % g P

4. % fOI3H BT

Question Number : 131 Question Id : 9277591281 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is a form of Ancient Chinese Art?
Options :

1. # The Dancing Girl

2. % The harpist

3. % Taotie

4. % Iznik dish

Question Number : 131 Question Id : 9277591281 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FEfIRed & ¥ D19 91 UTeid 1= B $1 ¥4 g7
Options :

1. % g SR

2. % g gifte

3. A8l

4. % g9 f&Q

Question Number : 132 Question Id : 9277591282 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What did Venus figurines represent during ancient period of art?



Options :

1. ¥ Fertility

2. ® Power and strength
3. % Love

4. % Wealth

Question Number : 132 Question Id : 9277591282 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. & SIA&HT

2. % Yo 3R g

3. % 09

4. % Y

Question Number : 133 Question Id : 9277591283 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following best describes digital painting?

Options :

1. # Itis an art in which computers play a role in production or display of the artwork.

2. ¥ It is the process of painting on a tablet and creating artwork digitally on a computer.
3. # Tt is the practice of applying paint, pigment, color or other medium to a solid surface.

4. % Jtis a step to draw on fabric canvas.

Question Number : 133 Question Id : 9277591283 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 134 Question Id : 9277591284 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not a core theme experimented by artists in speed painting?
Options :

1. # Colour

2. # Lighting

3. # Composition

4. ¥ Scale

Question Number : 134 Question Id : 9277591284 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 30

2. % YD

3. % Al

4.9 Whd

Question Number : 135 Question Id : 9277591285 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Making of 'Renaissance' by Marco Bauriedel is a digitally produced artwork. Which of the following type of painting is related to this
artwork?

Options :
1. # Traditional Painting



2. % Qil Painting
3. ¥ Matte Painting
4. % Speed Painting

Question Number : 135 Question Id : 9277591285 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % URUR® REeRt

2. % qdfeEr

3. ¢ e fomur

4. % g femon

Question Number : 136 Question Id : 9277591286 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following film used creature designig?
Options :

1. # Home Alone

2. % Jumanji

3. # The Notebook

4. # The Joker

Question Number : 136 Question Id : 9277591286 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % BIF 3
2. ¢ ST




3. % gD
4. % TR

Question Number : 137 Question Id : 9277591287 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following packaging design allows designers to clearly visualize how their package design will look in real life by viewing the
image in 3D on their computer screen?

Options :

1. # Digital packaging
2. % 2D packaging

3. ¥ 3D packaging

4. % Novel packaging

Question Number : 137 Question Id : 9277591287 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % fefored Ui

2. % 2D UobfoiT

3. ¢ 3D U

4. % FTqc Yo

Question Number : 138 Question Id : 9277591288 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Identifying the optimum design of a packaging system requires a cost-benefit trade-off analysis of the performance of the three levels of
packaging is significant. Which of the following is a secondary package or transit package?

Options :
1. % Wooden pallet



2. % case for cans
3. % roll cage

4. # Sealed plastic bags

Question Number : 138 Question Id : 9277591288 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. # g&- Udc

2. ¥ HIBR Hg

3. % d ol

4. % TETEE WIRSH ST

Question Number : 139 Question Id : 9277591289 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not a purpose of packaging?
Options :

1. ¥ It conceals.

2. # It contains.

3. % It protects.

4. # It transports.

Question Number : 139 Question Id : 9277591289 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 140 Question Id : 9277591290 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which type of packaging assures the sterile conditions within the package and protect the product from physical damage, but also maintain the
quality of the product inside the packaging?

Options :

1. % Active packaging

2. % Primary packaging
3. % Passive packaging
4. ¥ Aseptic packaging

Question Number : 140 Question Id : 9277591290 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % gfopg YpfoiT

2. % YT YBfomT

3. % fAfepg Ui

4. ¢ 3(fad UdbTorT
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Group Id : 92775948

Group Maximum Duration : 0



Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No
Discipline3

Section Id : 92775948

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1

Sub-Section Id : 92775958

Question Shuffling Allowed : Yes

Question Number : 141 Question Id : 9277591291 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

CRUD is the 4 basic functions that one needs to take into consideration while creating an application screen. What does the C stand for in
CRUD?

Options :
1. #* Clean
2. ¥ Create
3. % Cut
4. % Call

Question Number : 141 Question Id : 9277591291 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

CRUD 4 GaHd H1 & fT8 TR Wb 1- S0 98T &1 § X1 91fe¥ | CRUD & ¢ &1 31 312 g2
Options :

CIE]

2. ¢ fhue

3. % &c

4. % BId

Question Number : 142 Question Id : 9277591292 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

To create a spectacular Android app, one should take advantage of all that the hardware has to offer and Android devices come supplied with
several hardware features that could be used to build apps. Which of the following is not a hardware tool?

Options :

1. # Accelerometer

2. % Camera

3. % Bluetooth

4. ¥ Audio and Video support

Question Number : 142 Question Id : 9277591292 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

|. % @RUETT

2. % BRI

3. % &Y

4. 3T 3R difsar THdq




Question Number : 143 Question Id : 9277591293 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not one the 5 core principles for interactive design?
Options :

1. # Consistency

2. % Predictability

3. ¥ Reliability

4. % Feedback

Question Number : 143 Question Id : 9277591293 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad o @ & a1 gefaea feug & faw s wRe Rigial & 9t T8l 82
Options :

1. % 3oy (R

2. % gaiqH

3. ¢ fayeiraar

4. % giagfy

Question Number : 144 Question Id : 9277591294 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

There are 5 Dimension in interactive design. Which of the following dimension involves emotional responses or feedback of users and the
product?

Options :

1. ¥ Behaviour

2. % Time

3. % Visual representations
4. % Words

Question Number : 144 Question Id : 9277591294 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¥ TAER

2. % JUYg

3. % TR UK

4. % gl

Question Number : 145 Question Id : 9277591295 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following print medium is generally a larger advertisement with design elements that typically run in an article section of a
newspaper?

Options :

1. # Magazines

2. % Newspaper

3. % Display advertisement

4. % Trade Journal

Question Number : 145 Question Id : 9277591295 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ® UA®T

2. % JHER UA

3. ¢ & faqmu=

4. % IR UADT



Question Number : 146 Question Id : 9277591296 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What were the early government-produced news-sheets, called in China?
Options :

1. # Acta Diurna

2. ¥ Dibao

3. ¥ Notizie scritte

4. % Avvisi

Question Number : 146 Question Id : 9277591296 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % uger fasHf

2. ¢ f&aran

3. % Fifesh Repg

4. % 3fafadl

Question Number : 147 Question Id : 9277591297 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following type of magazine is a woman-targeted advertisement?
Options :

1. # Politics

2. ® Sports

3. ¥ Health

4. ¥ Fashion

Question Number : 147 Question Id : 9277591297 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

fFafafed @ 3 forg TR @ ulie! Afgar-aférd fasmo 82
Options :

1. % oI

2. % Wd

3. % WY

4. ¢ BRM

Question Number : 148 Question Id : 9277591298 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following involves distribution of magazines or newspapers to exclusive audience for free of charge?
Options :

1. # Paid circulation

2. % Non-paid circulation

3. % Controlled circulation

4. % Uncontrolled circulation

Question Number : 148 Question Id : 9277591298 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Jd® Jae

2. % 3HIdMD T

3. ¢ fEf3d u=rem

4. % AfERET U=reH

Question Number : 149 Question Id : 9277591299 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Designers usually introduce a theme in a page layout and construct the rest based on variation and exploration of that theme. Which of the
following terms best describes this phrase?

Options :

1. ¥ Visual Echo

2. % Color-based-design
3. # Design repetition
4. # Light Echo

Question Number : 149 Question Id : 9277591299 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ fag]3re !

2. % [-3nRa-fewmga

3. % {SOgH TRIadH

4. % TG 3h

Question Number : 150 Question Id : 9277591300 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following print is usually folded, sometimes stitched, sometimes with pockets for inserts?
Options :

1. % Magazine

2. % Poster

3. # Newspaper

4. ¥ Brochure

Question Number : 150 Question Id : 9277591300 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

Question Number : 151 Question Id : 9277591301 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What type of printing advertisement was Erbauliche Monaths Unterredungen, during 1663 in Germany?
Options :

1. # Newspaper

2. ¥ Magazine

3. ® Flyer

4. % Poster

Question Number : 151 Question Id : 9277591301 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. # JHARRYA

2. ¢ UiAeh]

3. % Tl

4. % QR

Question Number : 152 Question Id : 9277591302 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following best refers to the underlying framework in which some layouts are built?



Options :

1. ¥ Grid

2. % Column

3. # Rows

4. ® Design frame

Question Number : 152 Question Id : 9277591302 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. v g

2. % PiaH

3. % 3T

4. % [SSM8A A

Question Number : 153 Question Id : 9277591303 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following explains Faith branding?

Options :

1. ¥ It is the application of marketing techniques to religious institutions or individuals

2. # It is the application of marketing techniques for the advancement of a country

3. # It is the application of brand management to recruitment marketing and internal brand engagement

4. % Tt is the application of marketing techniques to a specific product, product line, or brand

Question Number : 153 Question Id : 9277591303 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :



1. ¥ g8 UTfifer Sy a1 aafaqdl & fore fauue ot o1 SuanT §

2. % T fdl 3w Pt IATA & o fAUuE qo-iep! T SV §

3. % gg Ul fAUuM 3R iR siie Tawrar & fort i€ UaieH &1 SyarT §
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Question Number : 154 Question Id : 9277591304 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Anchor Statement is one of the 7 elements of Brand Mapping Strategy. Which of the following best describes Anchor Statement?
Options :

1. # It sets one apart from the competition.

2. ¥ It is refer to as the elevator pitch.

3. ® It is the feeling or mood of the brand.

4. # Tt describes the services or products that make up the core of your business.

Question Number : 154 Question Id : 9277591304 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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3. % gg SIS P UG- a1 HFIGRN B |
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Question Number : 155 Question Id : 9277591305 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following describes Art Direction?
Options :

1. ¥ It describes the process of organising and directing the visual elements communication medias.



2. # It is a marketing communication that employs an openly sponsored, non-personal message to promote or sell a product, service or idea.
3. % Itis the promotion of a particular product or company by means of advertising and distinctive design.

4. # Tt is a craft where professionals create visual content to communicate messages.

Question Number : 155 Question Id : 9277591305 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 156 Question Id : 9277591306 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Creative fuels are known as inspirational sources for art directors when they ran out of creative ideas. Visual stimulus is known to be one of the
creative fuel resources. Which of the following is related to visual stimulus?

Options :

1. # Reading books.

2. # Being with nature.

3. # Listening to inspirational audio works.

4. ¥ Art galleries and exhibitions can provide a fertile environment for ideas.

Question Number : 156 Question Id : 9277591306 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :




1. % q&db UeH|

2. % Tpid o 1Y g1

3. % IR Yo Hicl DI AT

4. ¢ H1 39T 3R YSiaT faaR) & fore IoR ardaraRur UeH &R bt g |

Question Number : 157 Question Id : 9277591307 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Multimedia falls under five main categories and it uses varied techniques for digital formatting. Which of the following is not one of the
categories?

Options :

1. % Texts

2. ®% Graphics
3. ¥ Design

4, % Animation

Question Number : 157 Question Id : 9277591307 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

], % CRCYH

2. % UMithed

3. ¢ oo

4. % THAHRE

Question Number : 158 Question Id : 9277591308 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following model refers to the continuous exchange of information where both the sender and receiver are involved in the process
and take turns to communicate messages?



Options :

1. ¥ Transaction model
2. % Integration model
3. % Collaboration model

4. ¥ Expert model

Question Number : 158 Question Id : 9277591308 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ Wlg Hisd
2. % UHIH0 AISd
3. % gganT Hied
4. % foQvg Alsd

Question Number : 159 Question Id : 9277591309 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A multimedia application may require the use of speech, music and sound effects. These are called audio or sound element of multimedia. Which
of the following is true about analog audio?

Options :

1. # It is a representation of sound recorded in, or converted into, digital form.
2. # The data obtained from the audio is compressible.

3. % It can be sampled and quantised.

4. ¥ It refers to the original sound signal.

Question Number : 159 Question Id : 9277591309 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 160 Question Id : 9277591310 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The application of multimedia is observed in various fields. In what form is multimedia used in medical field?
Options :

1. ¢ Virtual Surgery

2. # Multimedia Learning

3. # Virtual Reality

4. % Animation

Question Number : 160 Question Id : 9277591310 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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4. % AT
Discipline4
Group Number : 9

Group Id : 92775949



Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No
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Group Marks : 20

Is this Group for Examiner? : No
Discipline4

Section Id : 92775949
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Section type : Online
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Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1

Sub-Section Id : 92775959

Question Shuffling Allowed : Yes

Question Number : 161 Question Id : 9277591311 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which limb from the limbs of Indian art describes the similarities in between the real and the creation?
Options :

1. ¥ Sadrishyam

2. % Rupa-bheda

3. ¥ Pramanani

4. % Bhava



Question Number : 161 Question Id : 9277591311 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ Gioad

2. % TN

3. ® JHTOTH

4. % Ydg

Question Number : 162 Question Id : 9277591312 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following limb of art is related to 'Accuracy and precision of measurement and structure'?
Options :

1. # Rupa- heda

2. % Pramanani

3. # Bhava

4. # Varnika-bhanga

Question Number : 162 Question Id : 9277591312 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Hal I ARRIRId T S A1 ST WY SR IRa1 1 Geldhdl R Gerar 3 Jafid g2
Options :

1. ¥ ¥UL- g8l

2.« GHIUTHL

3. % Hd

4. % QiofpT- T

Question Number : 163 Question Id : 9277591313 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
What does Varnakabhangam stands for?
Options :

1. ¥ Resemblance.

2. % An artistic way of making use of the brush and
colours.

3. % The feelings on forms.
4. ® The knowledge of looks and appearances.

Question Number : 163 Question Id : 9277591313 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
qUIGHLTTH &1 T 312 g2

Options :

1. % JHMETI

2. ¢ FR 3R TN BT ITANT B BT HATHD abl |
3. % ¥ R Y|

4, % FUHT 3R few@rd &1 |

Question Number : 164 Question Id : 9277591314 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is Shadanga theory in Indian art?
Options :

1. ® It consist of 2 limbs of Indian art.

2. ® It consist of 4 limbs of Indian art.

3. # It consist of 5 limb of Indian art.

4. % 1t consist of six limbs of Indian art.

Question Number : 164 Question Id : 9277591314 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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2. % T YRAT HAT P 4 3T 5|
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Question Number : 165 Question Id : 9277591315 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Lithography is a method of printing. Which of the following is true about lithography?
Options :

1. # It uses lino sheet.

2. ¥ It uses the immiscibility of oil and water.

3. # It's used with a screen.

4. % It's used with stencil or acrylic sheet.

Question Number : 165 Question Id : 9277591315 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 166 Question Id : 9277591316 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following type of lithography is a process used in microfabrication to pattern parts on a thin film or the bulk of a substrate?



Options :

1. % Chromolithography
2. % X-ray lithography
3. % Photolithography
4. # Soft lithography

Question Number : 166 Question Id : 9277591316 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % SHIHICTYIITRT

2. % X—rayﬁ”f?-ﬁ@-q'l_‘éc

3. ¢ BTG

4. % Hige fordl Burg

Question Number : 167 Question Id : 9277591317 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following artwork was done using the technique, Etching?
Options :

1. ¥ The Soldier and his Wife by Daniel Hopfer

2. % The Painter by Honoré Daumier

3. # Jungle Arc by Ray Burggraf

4. ® Manfred on the Jungfrau by John Martin

Question Number : 167 Question Id : 9277591317 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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4. % 19 7IfET gRT AhS 3119 € SAThTS,

Question Number : 168 Question Id : 9277591318 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Etching is an intaglio printmaking process in which lines or areas are incised using acid into a metal plate in order to hold the ink. Which of the
following is not among the metal type used for etching?

Options :
1. # Copper
2. % Iron
3. % Zinc
4. ¥ Gold

Question Number : 168 Question Id : 9277591318 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % qia

2. % gl

3. % Sl

4. @Ol

Question Number : 169 Question Id : 9277591319 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following about doodles are true?
Options :



1. # They are drawings without meaning or drawings that have no importance or significance.
2. ® They are usually created with spatula.
3. ¥ They are an important way of showing the unconscious process of creativity.

4. ® They are patna kalam paintings.

Question Number : 169 Question Id : 9277591319 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T Y P T gsa & IR T T 72

Options :
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Question Number : 170 Question Id : 9277591320 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What do Orthographic drawings represent?

Options :

1. ¥ They represent the object being drawn or designed as flat.
2. # It represents the objects drawn with free hand.

3. # It represents the anatomical drawing of a life model.

4. ® It represents objects drawn from memory.

Question Number : 170 Question Id : 9277591320 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 171 Question Id : 9277591321 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following materials will quickly hone the lead into any shape you wish?
Options :

1. ¥ A Sandpaper Block

2. # Rough paper

3. # A Utility Knife

4. % Spray Fix

Question Number : 171 Question Id : 9277591321 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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2. & GRIGRT DTS

3. % JUYIAI GRbT

4. % G oy

Question Number : 172 Question Id : 9277591322 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the first step in gesture drawing?
Options :

1. ¥ The Silhouette

2. % The Details



3. % The Exaggeration
4. % The Colors

Question Number : 172 Question Id : 9277591322 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ Riege

2. % fqarur

3. % iRl

4. % T

Question Number : 173 Question Id : 9277591323 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following medium is composed of compressed powdered graphite or charcoal mixed with a clay base, square in cross-section?
Options :

1. # Chalk

2. % Tempera

3. ® Gouache

4. ¥ Conté sticks

Question Number : 173 Question Id : 9277591323 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % gfear

2. % CUR]

3. % T




4. ¥ Bic Rew

Question Number : 174 Question Id : 9277591324 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

It is an art technique for the beginner who wishes to erase a mistake on an oil painting.' Which of the following technique relates to this phrase?
Options :

1. # Blemishing

2. ¥ Tonking

3. % Sgraffito

4. # Glazing

Question Number : 174 Question Id : 9277591324 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % ¢oy

2. ¢ difbe

3. % Wifthel

4. % TARGHT

Question Number : 175 Question Id : 9277591325 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Drawing with a string is a technique used in Z medium. Which of the following is Z?
Options :

1. # Pastel

2. % Graphite

3. % Ink

4. % Charcoal



Question Number : 175 Question Id : 9277591325 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T & T ST, Z H1eqH H SUTNT Bt S aTel! ddbiieb ¢ | FHfeiad 8§ ¥ & a1z 82
Options :

1. % 0K

2. % YI8C

3. ¥ T8l

4. % IRDIA

Question Number : 176 Question Id : 9277591326 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What was the medium used to produce the View of Delft, by Johannes Vermeer?
Options :

1. # Acrylic Paint

2. ¥ QOil Paint

3. % Crayon

4. # Charcoal

Question Number : 176 Question Id : 9277591326 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SNET aHf gRT, T 3Th SRR B daR B & fo18 fobd A1eqH H1 IuANT foan a1 4T
Options :

1. % Tlchferep Uc

2. ¢ dd ¥y

3. % UM

4. % IRDIA



Question Number : 177 Question Id : 9277591327 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following type of graphics specifically produces pixel-based images?
Options :

1. # Vector Graphics

2. % Screen print graphics

3. ¥ Raster Graphics

4. % Motion Graphics

Question Number : 177 Question Id : 9277591327 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofiied & ¥ f5g UoR &1 Uithad favIy 4 § fied-smenid fd §-rd1 82
Options :

1. % daeR Ulithay

2. % Thi flic Uithey

3. ¢ IR AT

4. % HIXE Al

Question Number : 178 Question Id : 9277591328 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

From the softwares listed below, which is not suitable for creating modern web graphics?
Options :

1. # Quark Express

2. % GIMP

3. #® Corel Paint Shop Pro

4. ¥ Microsoft Paint

Question Number : 178 Question Id : 9277591328 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

I TEias AdedmRl & T, HF 1 31YFHd 99 Tthad I o [oT ST -To1 67
Options :

1. % b TagUd

2. % GIMP

3. % PRAUCUY

4.+ HISHIGITR U

Question Number : 179 Question Id : 9277591329 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

An engineering graphics or an engineering drawing, is created within the technical drawing discipline and is used to fully and clearly define
requirements for engineered items. Tolerance is one of the common features of engineering drawing. Which of the following best describes
tolerance?

Options :

1. ¥ It is the allowable variations for each dimension.

2. % It is the size of the object captured in accepted units.
3. # It represents what the item is made of.

4. % It specifies the surface quality of the item, functional or cosmetic.

Question Number : 179 Question Id : 9277591329 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¥ I8 U f3m1 3 fore Wi frsran |

2. % U8 WIPhd SHIRT H HTR DI T8 I BT PR &

3. % g qWial ¢ fb o fpa A Qs B

4. % Ug a%, IS T DHIATCH DI Tdg B! U ! FfEy HRaT g |




Question Number : 180 Question Id : 9277591330 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the definition of graphics?

Options :

1. ¥ An image or visual representation of an object.

2. ® It's a study of computers and computing concepts.

3. # It refers to the page layout or style of text in a word processing document.

4. ® It is a range of monochromatic shades from black to white.

Question Number : 180 Question Id : 9277591330 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

UTitha Bt TR T 82

Options :

1. ¢ ool 9¥g o1 Bfd a1 T= UEfd |

2. % g R 3R NG GRS BT 3eqg- g |

3. % U8 g8 U Gxaras H US W33¢ I1 TaRe &1 ]l B! Haiid bRl g |
4. % g B Y The do Thafiie (AFbHfed) 3 & e gl
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Question Number : 181 Question Id : 9277591331 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is an additional arts subject?
Options :

1. # Geography

2. % Music

3. # Science

4. % History

Question Number : 181 Question Id : 9277591331 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fofafed & 9 3 91 sifaRad o fawa 82
Options :

1. %

2.« il

3. % fagm



4. % gfagr

Question Number : 182 Question Id : 9277591332 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

To which additional arts subject category, does needlework belong to?
Options :

1. # Sociology

2. ¥ Home Science

3. % English

4. ¥ Physical Education

Question Number : 182 Question Id : 9277591332 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o fora sifafvad wan fawa oft @ wefid g2
Options :

1. % AR IR

2. ¢ g faqH

3. % 3l

4. % RN fRran

Question Number : 183 Question Id : 9277591333 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The three-dimensional works in fine arts can be divided into pottery, architecture, sculpture and conceptual arts. Which of the following
mentioned below, is a sculpture?

Options :

1. ¥ The Parthenon temple

2. % The Passing of Shahjahan
3. ¥ The Nefertiti Bust

4. % Geornica



Question Number : 183 Question Id : 9277591333 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % g U9 Ce

2. % T UIRI 3fth TgTel
3. ¥ GABICC o

4. % Sffet

Question Number : 184 Question Id : 9277591334 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is false about Music Therapy?

Options :

1. # Itis clinical and evidence-based.

2. # Itis a therapeutical approach used to address physical, emotional, cognitive, and social needs of individuals.

3. # It provides avenues for communication that can be helpful to those who find it difficult to express themselves in words.

4. ¥ It involves movements, dance and body language to promote the emotional, social, cognitive, and physical integration.

Question Number : 184 Question Id : 9277591334 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafifed @ o @ 9ifid e & SR § s @2

Options :

1. % gg Al 3R W& TR g

2. % gﬁmﬁqwéwwmﬁw,wwmm TS 3R AT STIRISH TS B GRT HA & ford o
NIGIK

3. % U8 YR & foIU AT UeH &l § S S ATl & oY UgTae g1 9ol § ol ad &l eq] H odad BT JRdbd aidl g |
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Question Number : 185 Question Id : 9277591335 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Perspective is an important element in drawing and it includes, one-point perspective and two-point perspective. Which of the following is true
regarding one-point perspective?

Options :

1. # The face of the object being drawn is the furthest part to the viewer.

2. ¥ It is parallel to the eye level.

3. # The front of the corner of the object is closer to the viewer.

4. % The vertical lines are parallel to the sides of the picture plane.

Question Number : 185 Question Id : 9277591335 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Y S Y6 O 1 g G o o8 Jad R &1 g g |

2. ¢ T8 3G & SRR YHHR B |

3. % T P P BI 3T UFT <= & 3HfIF FAdhe gt g

4. % SR W o 7@ B Yo13f & JHFR gl g

Question Number : 186 Question Id : 9277591336 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following describes an ellipse?
Options :

1. # It is one of the tool in printing.

2. # It gives an illusion of proper relative size.

3. ¥ It is a circle viewed at an angle.



4. ® Tt creates an illusion of depth.

Question Number : 186 Question Id : 9277591336 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFofafed o ¥ ®1F didad &1 o =l g2
Options :

1. % g5 RA®ar & 9" § 9 T 5

2. % g I WU SHTHR HT YT AT 8|
3. ¢ TG HI IR AT o a1 I ¢ |

4. % TG TGRS BT fAYT IO BT 5

Question Number : 187 Question Id : 9277591337 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the significance of drawing Loose circular strokes?

Options :

1. ¥ It is great for quick recording of simple subjects or for working out a still life arrangement.
2. % It captures the general shapes of objects such as clouds, treetops, or rocks.

3. % It creates rough textures and deep shadows, making it ideal for subjects.

4. ® It helps create great detail at the end.

Question Number : 187 Question Id : 9277591337 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3Id JATHR Wi Wi &1 77 7Ed 82

Options :

1. ¢ Ig QYR fawd| &1 aRd RepiTe T & g a1 fRR e a1 IR &1 $R- & ol 9gd B8
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Question Number : 188 Question Id : 9277591338 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Scale is one the elements of design. Which of the following describes the importance of scale in a design?
Options :

1. # It makes the design to have a good contrast.

2. % It produces an informal balance that is attention attracting and dynamic.

3. % It helps achieve the visual unity.

4. ¥ Using the relative size of elements against each other can attract attention to a focal point.

Question Number : 188 Question Id : 9277591338 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % gg f&oe o 3res1 dhere S 8

2. % Gg SFIUHNRG e SUd Bl g oIl & ATHd B arer iR IR i gl

3. % Ug T UShdl UTd &3 § AeE adl |
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Question Number : 189 Question Id : 9277591339 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not an example of design?
Options :

1. #® Architectural blueprints

2. ¥ Repoussé

3. # Circuit diagrams

4. ® Sewing patterns

Question Number : 189 Question Id : 9277591339 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

frafofed & 3 o1 a1 fSTe &1 e 8l 82
Options :

1. % GRIH Al BN (S[U<)

2. ¢ QY

3. % gidhe 3T

4. % fYas Ue

Question Number : 190 Question Id : 9277591340 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following best describes Experiential graphic design field?
Options :

1. # It's the design of user interfaces for machines and software, such as computers, home appliances, mobile devices, and other electronic
devices, with the focus on maximizing usability and the user experience.

2. ¥ It's used to communicate meaningful information via words, symbols, diagrams, and images.
3. # It's the process of supporting user behaviours through usability, usefulness, and desirability provided in the interaction with a product.

4. ® It's the art, profession and academic discipline whose activity consists in projecting visual communications intended to transmit specific
messages to social groups, with specific objectives.

Question Number : 190 Question Id : 9277591340 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 191 Question Id : 9277591341 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the colour does not correspond to human trichromacy?
Options :

1. # Red

2. % Blue

3. % Green

4. ¥ Yellow

Question Number : 191 Question Id : 9277591341 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

B T T HFG CIZHIIE & R 8l 22
Options :

1. % dld

2. % el

3. % gl

4. ¢ diar

Question Number : 192 Question Id : 9277591342 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Azure is defined as the colour halfway between X and Y. What are X and Y?
Options :

1. # Yellow and Orange

2. # Red and Violet

3. ¥ Blue and Cyan

4. % Grey and Green



Question Number : 192 Question Id : 9277591342 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR B X 3R Y & a1 & 31 T & =0 7 uRUING b g1 x 3R Y g2
Options :

1. % Uidr 3R AR

2. % TS SR ST

3. ¢ I 3R A

4. % Y ARG

Question Number : 193 Question Id : 9277591343 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is true regarding Simultaneous Contrast?

Options :

1. # Three colours, side by side, interact with one another and change our perception accordingly.
2. # It is a non- psychological process.

3.+ Simultaneous contrast is most intense when the two colours are complementary color.

4. # Simultaneous contrast applies only to sight.

Question Number : 193 Question Id : 9277591343 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 194 Question Id : 9277591344 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the term used for purposely avoiding alignments between elements, or selectively choosing which elements to align?
Options :

1. ¥ Visual tension

2. % Asymmetrical alignment

3. * Visual Echo

4. % Passive alignment

Question Number : 194 Question Id : 9277591344 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¥ €Y d-d

2. % UG WY (TATSTHS)

3. ® {3 gl

4. % fAfspg &g

Question Number : 195 Question Id : 9277591345 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following term describes the relationship between sizes that is pleasing to the human eye?
Options :

1. # Colour

2. ¥ The Golden Mean

3. % Contrast

4. % Tone

Question Number : 195 Question Id : 9277591345 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % O

2.  WH AL (g Mes JiH)

3. % BHgRe

4. % T

Question Number : 196 Question Id : 9277591346 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following term refers to a production system where the work stations and equipment are located along the line of production, as
with assembly lines?

Options :

1. # Page layout
2. # Process layout
3. % Print layout
4. ¥ Product layout

Question Number : 196 Question Id : 9277591346 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % U9 W33C
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3. % flfc demae
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Question Number : 197 Question Id : 9277591347 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following can be a reference to a man-made Still-life drawing?
Options :

1. * The Clouds

2. % The Sea

3. % A bridge

4. % A Bird

Question Number : 197 Question Id : 9277591347 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafifed § @ #1F Are Rffd RR axg Wi o1 el 8 gearg?
Options :

1. % qal3gd

2. % g4

3. 3o

4.% 398

Question Number : 198 Question Id : 9277591348 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following drawing is a Nature drawing?
Options :

1. ¥ Mountains By William F. Powell

2. % Candlelight by William F. Powell

3. ¥ Bottle and Bread By William F. Powell

4. ¥ Bouquet By William F. Powell

Question Number : 198 Question Id : 9277591348 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ faferad U, Uidd gR1 udd

2. % fafergw Uw. Ufdd gRI Heaase
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4. % fafergy U, ufad gRT ¥

Question Number : 199 Question Id : 9277591349 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

From which direction does the lighting in the studio comes from?
Options :

1. ¥ North

2. % South

3. % West

4. % East

Question Number : 199 Question Id : 9277591349 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e B U fhy fo=m 4 S g2
Options :

1. ¢ WA

2. % &

3. % Ufgm

4. % qd

Question Number : 200 Question Id : 9277591350 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Shore temple is an example of temple art. Where is it built?
Options :

1. ¥ Kolkata

2. ¥ Mahabalipuram

3. # Telangana

4. ® Maharashtra

Question Number : 200 Question Id : 9277591350 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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3. % qETH
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